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1.If A =diag(3, -1), then matrix A is

0 3 -1 0
; _1] (b)

30 3 -1
V(o —1] @Dl o

(a)

2. If matrices A and B are inverse of each otherthen

It A 3R B s gl & gewrA § o ARAw
(a) AB = BA

(b)AB=BA=1

(c)AB=BA=0

(d)AB=0,BA =1

3. The diagonal elements of a skew symmetric matrix are

gafAa Aed & vt dca §
all zeroes
(b) are all equal to some scalar k(# 0)
(c) can be any number
(d) none of these

4,

. 0 0 0 0
Zeromamceslo 0 Oland[O O]are

equal. State true or false.

(a) True

valse

5.

If ;iiy :]2[3 _;I,ﬁndthevalues

of x and y.

Time; 45Min



(a)x=3,y=-1

(b)x=7,y=-1
(c)x=4,y=2
(d)yx=3,y=2
6.
3 -1 2
Given matrix 4 = |4 5 9|, write the
1 3 4
value of 3a,, - 4a;,.
(a) 5
V%
-1
(d) 4

7. The intermediate solutions of constraints must be checked by substituting them backinto
STt & ALITAT TATAT HT ST I 3e¢ aad yfaeaia far s oo

wobjectivefunction

B) Constraintequations
C)Not required

D) None of these

8. Of all the points of the feasible region, for maximum or minimum of objective function, the pointlies

Tora a1 & @ [igait 7 &, 3rfeaw a1 7eTaw 3T @R & fov, fig Afga &
(a) inside the feasible region

(b) at the boundary line of the feasible region

(c) vertex point of the boundary of the feasible region

(d) none of these

9.Feasible region is the set of points which satisfy

"o &Y 37 g3t o7 woE & S s A €
the objective functions

(b) some of the given constraints

(c) all of the given constraints
(d) none of these

10.Inlinear programming the objectivefunctions and constraints are

@ NanfAer A ey 1 3R Juw §



(a) adjacent
(b) quadratic
(c)linear

(d)solved

11.which of the followingisa component of linear programming model?
fAmfaf@a # & ol Qs FanfHr Az &1 tF gcF 87

(a) Constraints

(b)objectivefunction

(V{feasible region

(d)Allof the above

12.For the products X and Y, which of the following can be aobjective function
3carel & AT X3 v, 7T & & Sl IO U 38T FFT @ Fhdl o

(a) C=x+2y
(b) c =y — 2x?

Q& X+2x/y
) Allofthese

13.Ina LPP, the linearinequalities or restrictions on the variables are called
TodIdT #, T 9X HAAA AT AT ATdGY gl ST g

(a) Linearconstrains

(b) lignits

%qualities
constraints

14. Which one of the following is a part of every game theory model?
efef@a & ¥ &ia a1 7 ey dAlse &1 e fwar 82
(a) Players
(b) Payoffs
Possibilities
(d) Strategies
15. In game theory, a choice that is optimal for a firm no matter what its competitors do is referred to as

AT @ A, vh Bheq S v B & AT gvean & AR 9 IS Yfedcfadt & &9 # "Wefiia &

(a) Dominant strategies
(b)ySaddle point

Super optimal
(d) None



16. Which of the following circumstances in an industry will result in a Nash equilibrium?
T 3T A Feaf@a A @ sl @ oRfEfodl & v qer dgerer gen?

(a) All firms have a dominant strategy and each firm chooses its dominant strategy.
(b) All firms have a dominant strategy, but only some choose to follow it.

(c) All firms have a dominant strategy, and none choose it.

(d) None of the above is correct.

17. Which of the following describes a Nash equilibrium?
@ & & &l v oer dgere &1 gofe I 82

(a) A firm chooses its dominant strategy, if one exists

(b) Every competing firm in an industry chooses a strategy that is optimal given the choices of every other firm.
(c) Market price results in neither a surplus nor a shortage.

(d) All firms in an industry are earning zero economic profits.

18. Which of the following is a nonzero-sum game?
fAefaf@ad & @ &la s dA-dfaa ot &1 a« €2

(a) Prisoners’ dilemma

(b) Chess

(c) Competition among duopolists when market share is the payoff
(d) All of the above.

19. In game theory, a situation in which one firm can gain only what another firm loses is called a
i = A, v o Y S e o Faa af effd #T g & S gElr v grar #

(a) nonzero-sum game.
(b) prisoners’ dilemma.
(c) zero-sum game.
(d) cartel temptation.

20. A strategy that is best regardless of what rival players do is called
& WG A7 afdededr f@enfeat & arer $i1 uvarg & far @ed wwoT §
(a) first-mover advantage.
(b) a Nash equilibrium strategy.
(c) tit-for-tat.
(d) a dominant strategy.

21. A rule of expanding a determinant of order 3 is
3 %A & ORUS & A & TH Hgq §---

(a) Sarrus Rule

(b) Bayes Rule

(c) Pascal Rule

(d) None of these

22. Who propounded the theory of input-output analysis?
Jmera-foveta faerewor fFaer gega e
(a) W.W.Leontief



(b) Howkins
(c) D.C.Simon
(d) Lagrange

23.In which year Input output analysis was introduced?
eTe-ferta favreivor e af gega fRar arar?

(a) 1915

(b) 1951

(c) 1948

(d) 1932

24. In input output analysis, each industry produce only......... commodity?
rerc-foeta erewor & gk 3¢ dhad..... aFg HT 3cUcld il g7

(@)1

(b) 2

(c) 3

(d) 4

25. Who introduces the concept of game theory?
T fFeyia T HTUROT Eel T&gd H1?

(a) James Bernoulli

(b) Thomas Bayes

(c) Newman & Morgenstern
(d) None of these
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1.If A =diag(3, -1), then matrix A is

0 3 o
@ lo -1] ®) :: g

3 0 3 -1
vig el

2. If matrices A and B are inverse of each other then

e AR BUs gt & gepA § ar AR
WB:BA
AB=BA =1
c)AB=BA=0
(d)AB=0,BA =1

3. The diagonal elements of a skew symmetric matrix are

ARG ARFT & [eoT dca &

all zeroes
) are all equal to some scalar k(# 0)
(c) can be any number
(d) none of these

4,

" 0 0 0 0 0
Zeromamceslo 0 Oland[O O]are

equgg. State true or false.

rue

(b) False
5.
3y y 4 -1
If X+ _
7+ 4] [0 4I, find the values

of x and y.



)X=7,\/=-1
(c) x=4,y=2
(d)x=3,y=2
6.
3 -1 2
Given matrix 4 = (4 5§ 9|, write the
1 3 4
value of 3a,, - 4a;,.
(a) 5
(b)
-1
) 4

7. The intermediate solutions of constraints must be checked by substituting them backinto
[ & ALIdl AT 6 Siig & 3oe a9d TfaeAidd faar s aifge
Objective function
B) Constraintequations
C) Notrequired

D) None of these

8. Of all the points of thefeasible region, for maximum or minimum of objective function, the pointlies

& & welr g3t A &, fReras I FPETaH 3T §ARE & o, g Afka &
inside the feasible region

(b) at the boundary line of the feasible region
(c) vertex point of the boundary of the feasible region
(d) none of these

9.Feasible region is the set of points which satisfy

Ta &1 31 Tog3il &7 TIg & S dse IR §

(a) e objective functions
(bgfsome of the given constraints
all of the given constraints

(d) none of these

10.Inlinear programming the objective functions and constraints are

e et & Seied F1 3R amee §



(a) adjacent
(b) quadratic
hear

(d) solved

11.which of the following is a component of linear programming model?
fmfaf@a # & Fla Y@s danfFer Alga #1 tF g 872
(a) Constraints

(b)objective function

(c) feasible region

yofthe above

12.For the products X and Y, which of the following can be a objective function

3curel & fow X3 v, 5 7 & T 81 UF 35527 HaRie & §hdl ¢

(a) g=x+2y
(fc=y—2x?
) C=x+2x/y

(d) Allofthese

13.Ina LPP, the linear inequalities or restrictions on the variables are called

Todid! , T X 3 AR IHHARAN AT GfAeE el Sam &

(a) geinear constrains
b} limits
inequalities

(d) constraints

14. Which one of the following is a part of every game theory model?
ffof@a # ¥ #la a1 7 fBeua Afsa &1 s e 82

(a) Players

(b) Payoffs

(c) #fossibilities
Strategies

15. In game theory, a choice that is optimal for a firm no matter what its competitors do is referred to as

I @ A, v [hed S v BF & AT gvean ¢ AR 98 U Uideacadt & &9 & wefila @

(a) minant strategies
(b)}5addle point

Super optimal
d) None



16. Which of the following circumstances in an industry will result in a Nash equilibrium?

S 3T A Efdfad # @ sl @ oRffufadt & v dgee gene?

All firms have a dominant strategy, but only some choose to follow it.
All firms have a dominant strategy, and none choose it.
(d) None of the above is correct.

VI firms have a dominant strategy and each firm chooses its dominant strategy.
b

17. Which of the following describes a Nash equilibrium?
frfaf@d # & Fla tF awr dgeret F gofT Hr 82

(a) A firm chooses its dominant strateqy, if one exists
(b) Bvery competing firm in an industry chooses a strategy that is optimal given the choices of every other firm.
(c)# Market price results in neither a surplus nor a shortage.

All firms in an industry are earning zero economic profits.

18. Which of the following is a nonzero-sum game?
fAfaf@a & & &la e d-Nfaa afr &1 @« 2

(a) Byisoners’ dilemma
(b hess

Competition among duopolists when market share is the payoff
d) All of the above.

19. In game theory, a situation in which one firm can gain only what another firm loses is called a
i = #, e 0 Ry B e v Fad o efe # T € Y gEl e g §

(a) nonzero-sum game.
(b) prisoners’ dilemma.
(c) ro-sum game.
d)#fartel temptation.

20. A strategy that is best regardless of what rival players do is called
s WA S gfdededt @enRdl & ara f wag Fr fAar aew e #

(a) first-mover advantage.

(b) g Nash equilibrium strategy.
(c)fftit-for-tat.
a dominant strategy.
21. A rule of expanding a determinant of order 3 is

3 ®H & OR0I® & 99N & U a8 &

(a) rrus Rule
b)ghayes Rule
Pascal Rule

(d) None of these

22. Who propounded the theory of input-output analysis?
mera-fAeta faereor e gega e
(a) W.W.Leontief

4



(b) Howkins
(c) D.C.Simon
(d) Lagrange

23.In which year Input output analysis was introduced?
mera-feeta oo fFa a¥ gega fRar amr?
(a) 1915

(b) 1951
(c) 548
1932

24. In input output analysis, each industry produce only......... commodity?
HTa-fRaTa T F uedE 3edeT Fad... . aF HT Icual B g7

(a)
(b,

3
d) 4

25. Who introduces the concept of game theory?
T eyl $T HTUROT hEel qegd HI?

(a) James Bernoulli

(b) Thomas Bayes

(c) wman & Morgenstern
(d)#None of these
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1.If A =diag(3, -1), then matrix A is

0 3 -1 0
@ 'n —1] @3 9
300 3 -1
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2. If matrices A and B are inverse of each other then

I AR B UH g@ & JeshA & f Afcda
(@) AB=BA

(b)AB=BA=1|

(c)AB=BA=0

(d)AB=0,BA=1

3. The diagonal elements of a skew symmetric matrix are

oo gafaa ARFw & [T aca &

(a) all zeroes

(b) are all equal to some scalar k(# 0)
(c) can be any number

(d) none of these

4.

) 0 0 0 0 0
Zcmmatnceslﬂ 0 D]and[{] ﬂ}arc

equal. State true or false.

(a) True

(b) False

5.

x+3y vy 4 -]
If =
[? T 4} [1} 4|, find the values

of x and y.

Time; 45Min



(a)x=3,y=-1

(b)x=7,y=-1

(c)x=4,y=2

(d)x=3,y=2

6.
3 -1 2

Given matrix 4 = [4 5 9|, write the
1 3 4

value of 3a,, — 4a;,.

(@) 5
(b) 3
(c) -1
(d) 4

7. The intermediate solutions of constraints must be checked by substituting them backinto

3T & ALITAT GATTT T ST ¥ 3o a9g o Far Ser afge

A) Objective function
B) Constraintequations
C) Not required

D) None of these

8. Of all the points of the feasible region, for maximum or minimum of objective function, the point lies

Tera a1 & @l gt 7 &, 3 d 1 ~geTa# 36T ARG & fov, fig Afga &
(a) inside the feasible region

(b) at the boundary line of the feasible region

(c) vertex point of the boundary of the feasible region

(d) none of these

9.Feasible region is the set of points which satisfy

Tara &1 31 g3l 7 Tag & S Ese ad &
(a) the objective functions

(b) some of the given constraints

(c) all of the given constraints

(d) none of these

10.In linear programming the objective functions and constraints are

@ NanfFr & 3eged Hr ik arenv §



(a) adjacent
(b) quadratic
(c)linear

(d) solved

11. which of the following is a component of linear programming model?
Ffaf@d & ¥ w9 Qs W@ alsa 1 v ges 82

(a) Constraints

(b)objective function

(c) feasible region

(d) All of the above

12.For the products X and Y, which of the following can be a objective function
3curel & fow X3 v, A & ¥ Sl IO1 Uh 36T BRI @ TR &

(a) C=x+2y

(b) c =y — 2x?
(c) C=x+2x/y
(d) Allofthese

13.Ina LPP, the linear inequalities or restrictions on the variables are called
TEddT #, TR W 3FHRT AT IT Ifde gl SA1ar g

(a) Linear constrains
(b) limits

(c) inequalities

(d) constraints

14. Which one of the following is a part of every game theory model?
Fef@a & @ Fia a1 d7 Beyia Alsa & ve e &2

(a) Players
(b) Payoffs
(c) Possibilities
(d) Strategies

15. In game theory, a choice that is optimal for a firm no matter what its competitors do is referred to as

A Y H, v RFed S Uk B & [T gvedn § U aF A9 iiedead & w9 & defid @

(a) Dominant strategies
(b) Saddle point

(c) Super optimal

(d) None



16. Which of the following circumstances in an industry will result in a Nash equilibrium?
T 3¢ A PAefaf@a A @ wla @ aREAE # e e gges gen?

(a) All firms have a dominant strategy and each firm chooses its dominant strategy.
(b) All firms have a dominant strategy, but only some choose to follow it.

(c) All firms have a dominant strategy, and none choose it.

(d) None of the above is correct.

17. Which of the following describes a Nash equilibrium?
fRrfaf@d # @ @i v oer dgeret &1 ol e 72

(a) A firm chooses its dominant strategy, if one exists

(b) Every competing firm in an industry chooses a strategy that is optimal given the choices of every other firm.
(c) Market price results in neither a surplus nor a shortage.

(d) All firmsin an industry are earning zero economic profits.

18. Which of the following is a nonzero-sum game?
fArfaf@a # & &la e I-Afaa afr &1 @« g2

(a) Prisoners’ dilemma

(b) Chess

(c) Competition among duopolists when market share is the payoff
(d) All of the above.

19. In game theory, a situation in which one firm can gain only what another firm loses is called a
AA oA A, v v R FEH vh w dhad J@r g # Fhdr § ST g A gRAT &

(a) nonzero-sum game.
(b) prisoners’ dilemma.
(c) zero-sum game.
(d) cartel temptation.

20. A strategy that is best regardless of what rival players do is called
TS I0EATa SIt gfdeged! R@anfsdl & arer i wag e oar ae9d 3T §
(a) first-mover advantage.
(b) a Nash equilibrium strategy.
(c) tit-for-tat.
(d) a dominant strategy.

21. A rule of expanding a determinant of order 3 is
3 %A & IRUIF & TOR & Th gd g

(a) Sarrus Rule

(b) Bayes Rule

(c) Pascal Rule

(d) None of these

22. Who propounded the theory of input-output analysis?
mra-fRed ferewer fresr sega famar?
(a) W.W.Leontief



(b) Howkins
(c) D.C.Simon
(d) Lagrange

23.In which year Input output analysis was introduced?
mara-feta fAerawor fFa a¥ gega fear amr?

(a) 1915

(b) 1951

(c) 1948

(d) 1932

24. In input output analysis, each industry produce only......... commodity?
- T # yedE 3T Fae..... aEG HT 3cqare FIT 82

(a) 1

(b) 2

(c) 3

(d) 4

25. Who introduces the concept of game theory?
Tol ey #T HaUROT hfel J&gd HI?

(a) James Bernoulli

(b) Thomas Bayes

(c) Newman & Morgenstern

(d) None of these
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1.If A =diag(3, -1), then matrix A is

0 3 -
@ lo -1] ® :: g

3 0 3 -l
vl el

2. If matrices A and B are inverse of each other then

e AR BT g@ & gewpA § ar AR
(a)/fB = BA
AB=BA=1
c)AB=BA=0
(d)AB=0,BA=1

3. The diagonal elements of a skew symmetric matrix are

ARG AfeFw & AT aca §
all zeroes
) are all equal to some scalar k(# 0)
(c) can be any number
(d) none of these

4.
. 0 0 0 0 0

Ze

romamceslo 0 Oland[O O]are
equal. State true or false.

True
(b) False
5.

If

x+3y yl_|4 -1
7+ 4] [0 4|,ﬁndthevalues

of x and y.



(a)x=3,y=-1

x=7,y=-1
(c) x=4,y=2
(d)x=3,y=2
6.
3 -1 2
Given matrix 4 = |4 5 9|, write the
1 3 4
value of 3a,, - 4a;,.
(a) 5
(b)
-1
(d) 4

7. The intermediate solutions of constraints must be checked by substituting them backinto

aremt & ALIadl FATT I ST F& Io¢ a9T o fFar ST afge

%bjective function

B) Constraintequations
C) Notrequired

D) None of these

8. Of all the points of thefeasible region, for maximum or minimum of objective function, the pointlies

g & & el figal A &, f¥eds a1 sgeaH 35T #ARE F fov, g Afga g
inside the feasible region
(b) at the boundary line of the feasible region
(c) vertex point of the boundary of the feasible region
(d) none of these

9.Feasible region is the set of points which satisfy

e &1 31 Tag3il &7 Tag & S dse A §

(a) the objective functions

(b yBome of the given constraints
all of the given constraints

d)

none of these

10.Inlinear programming the objective functions and constraints are

e ST # Seder F 3R am ¥



(a) adjacent

(b) guadratic
%near

(d) solved

11.which of the following is a component of linear programming model?
fmfaf@a # & Fia Qs danfAer FAlger 1 1F g g7

(a) Constraints
(b)objective function
(c) feasible region

All of the above

12.Forthe products X and Y, which of the following can be a objective function
3curar & o X3 v, et A ¥ &l &1 va 35T B 81 Hahdl §

C=x+2y
(b) c =y — 2x?
(c) C=x+2x/y
(d) Allofthese

13.Ina LPP,the linear inequalities or restrictions on the variables are called
Tt #, T 9Y AT AN AT GIAEE gl Sar g

Linear constrains
(b) limits
(c) inequalities
(d) constraints

14. Which one of the following is a part of every game theory model?
fArfaf@a # @ #la a1 a7 By Alse &1 v B §?

(a) Players
(b) Payoffs

(c)fPossibilities
Strategies
15. In game theory, a choice that is optimal for a firm no matter what its competitors do is referred to as

I @ A, v [heq S v ®F & AT gvean & AR 98 IS Yiicdeadt & &9 & weffla

%ominant strategies
(b) Saddle point

(c) Super optimal
(d) None



16. Which of the following circumstances in an industry will result in a Nash equilibrium?
S 3T A Efafad # @ sl @ oRffufodt & v awr dgee gene?

%\II firms have a dominant strategy and each firm chooses its dominant strategy.
(b) All firms have a dominant strategy, but only some choose to follow it.

(c) All firms have a dominant strategy, and none choose it.

(d) None of the above is correct.

17. Which of the following describes a Nash equilibrium?
fArfaf@a & @ $iaT T Rr GgelsT FT 0T F 872

(@) K firm chooses its dominant strategy, if one exists

(WFEvery competing firm in an industry chooses a strategy that is optimal given the choices of every other firm.
(c) Market price results in neither a surplus nor a shortage.

(d) All firms in an industry are earning zero economic profits.

18. Which of the following is a nonzero-sum game?

Aefef@Eg & @ 39 e idEg o &1 wa 22

MPrisoners' dilemma

(b) Chess
(c) Competition among duopolists when market share is the payoff
(d) All of the above.

19. In game theory, a situation in which one firm can gain only what another firm loses is called a

A A A, v v U T v B9 dae e FT e § S gEY B gRAr §

(a) nzero-sum game.
prisoners’ dilemma.
Zero-sum game.

(d) cartel temptation.

20. A strategy that is best regardless of what rival players do is called
TF WENE S Sfededt e & Tl €1 A BU R qey o §
(a) first-mover advantage.
(b) a Nash equilibrium strategy.
c)Mit-for-tat.
a dominant strategy.

21. A rule of expanding a determinant of order 3 is
3 ARO& & TaR & THh Haq §---
) Sarrus Rule
(b) Bayes Rule
(c) Pascal Rule
(d) None of these

22. Who propounded the theory of input-output analysis?

3TaT- faereivor e gegd fRar?
W.Leontief



(b) Howkins
(c) D.C.Simon
(d) Lagrange

23.In which year Input output analysis was introduced?

mera-fEEta oo fFa a¥ gega fRar amar?

(ayflo15
1951
c) 1948

(d) 1932

24. In ingut output analysis, each industry produce only......... commodity?
Mﬂ%ﬁ@lﬁﬂw #H Ul 3T Shdd..... a6 BT 3cUele Fl g7
1

(b) 2
(c) 3
(d) 4

25. Who introduces the concept of game theory?

T eyia #T HTUROT FEe gegd $HI?

(a) Jpmes Bernoulli
womas Bayes
Newman & Morgenstern
d) None of these
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1.If A =diag(3, -1), then matrix A is

0 3 X
@ lo -1] ® :: g

300 3 -1
V(t) =1 @Dlo o

2. If matrices A and B are inverse of each other then

e AR BUs g@t & oA § ar AR
(a) = BA
B=BA=1I
(QAB:BA:O
(d)AB=0,BA =1

3. The diagonal elements of a skew symmetric matrix are

TAfAa AT & [T aca &
all zeroes
) are all equal to some scalar k(# 0)
(c) can be any number
(d) none of these

4,

. 0 0 0 0 0
Zeromamceslo 0 Oland[O O]are

equal. State true or false.

(a) True
wFalse
5
x+3y yl_|4 -1
If‘l-x 4] [0 4I,ﬁndthev.'.alues

of x and y.



(a)x=3,y=-1

(ofk=7,y=-1

(c)x=4,y=2

(d)x=3,y=2

6.
3 -1 2

Given matrix 4 = |4 5 9|, write the
1 3 4

value of 3a,, - 4a;,.

(@) 5
(b) 3
-1

(d) 4
7. The intermediate solutions of constraints must be checked by substituting them backinto
STt & ALTTAT FATAT H ST I Iee aad ufaeaid fRar s aifge
A) Objective function
B)#ffonstraintequations

C) Notrequired

D) None of these

8. Of all the points of thefeasible region, for maximum or minimum of objective function, the point lies

e & & el figat A @, af¥eas a1 sgFaA 35T #ARE F fov, g Pfga g
inside the feasible region
(b) at the boundary line of the feasible region
(c) vertex point of the boundary of the feasible region
(d) none of these

9.Feasible region is the set of points which satisfy

Ta &1 3 Tog3il &1 Tg & S ddse R 8

(a) the objective functions

(b) spme of the given constraints
| of the given constraints

(

none of these

10.Inlinear programming the objective functions and constraints are

@ danfAer & 3cgey F13 30 ame §



(a) adjacent
(b) quadratic
) linear

(d) solved

11.which of the following is acomponent of linear programming model?

Arfaf@d & ¥ 39 Y@= wanfdesr #Aied &1 v gea g7

(a) Constraints
(b)objective function

(c) feasible region

WIlofthe above

12.For the products X and Y, which of the following can be a objective function

3curel & T X3 v, A5 7 ¥ &l &1 U 35537 Ha g §hdl ¢

Y(Z=x+2y
) c =y —2x?

(c) C=x+2x/y
(d) Allofthese

13.Ina LPP, the linear inequalities or restrictions on the variables are called

Tt #, T X 3 AR HHARAN AT GG gl Sam &

M Linear constrains

(b) limits
(c) inequalities
(d) constraints

14. Which one of the following is a part of every game theory model?
Aefaf@a # @ w9 o a7 Beua Alse &1 v B §?

(a) Players
(b) Payoffs

(c) Possibilities
) Strategies
15. In game theory, a choice that is optimal for a firm no matter what its competitors do is referred to as

A7 2l F, v BFew S v B & AT sveanm § 9 gg 39 vidcaeadt & ¥ & Heffd &

) Dominant strategies
(b) Saddle point
(c) Super optimal
(d) None



16. Which of the following circumstances in an industry will result in a Nash equilibrium?

S 3¢ A Efafad # @ sia @ oRffufadt & v awr dgee gene?

All firms have a dominant strategy, but only some choose to follow it.
(c) All firms have a dominant strategy, and none choose it.
(d) None of the above is correct.

%II firms have a dominant strategy and each firm chooses its dominant strategy.
(B)

17. Which of the following describes a Nash equilibrium?

frfaf@a # & Fi9 tF o dgest F1 gofT FIar 872

Every competing firm in an industry chooses a strategy that is optimal given the choices of every other firm.
c) Market price results in neither a surplus nor a shortage.
(d) All firms in an industry are earning zero economic profits.

(a! A firm chooses its dominant strategy, if one exists

18. Which of the following is a nonzero-sum game?

Aefef@Ea # @ 39 e AP o &1 e 22

\p() Prisoners’ dilemma
(b) Chess

(c) Competition among duopolists when market share is the payoff
(d) All of the above.

19. In game theory, a situation in which one firm can gain only what another firm loses is called a
AT Y A, v 0O Y TEd vF w4 Fad af gffd FT TEA & g0 FH gRar &

(a) nonzero-sum game.
(bp prisoners’dilemma.
% Zero-sum game.
d) cartel temptation.
20. A strategy that is best regardless of what rival players do is called
% WA St gfdcdedt f@enf3dl & arer i gwag v f§ar ged wwor g

(a) first-mover advantage.
(b) a Nash equilibrium strategy.

(c) git-for-tat.
d)f'a dominant strategy.

21. A rule of expanding a determinant of order 3 is

3 %A § ORUF & JOR & U [ua §---
Sarrus Rule
) Bayes Rule
(c) Pascal Rule
(d) None of these

22. Who propounded the theory of input-output analysis?

3T Eerewor s wrga B
W.W.Leontief



(b) Howkins
(c) D.C.Simon
(d) Lagrange

23.In which year Input output analysis was introduced?

mera-fEeta e fFe a¥ gega fRar o

(a)y1915
w 1951
c) 1948
(d) 1932

24. In input output analysis, each industry produce only......... commadity?
HTTa- faerawor # gdd 3gAeT Fael.....dEJ FT IcUAlT A 82

1
b) 2
(c) 3
(d) 4

25. Who introduces the concept of game theory?
T Feyia $T HTURCN hEe gFgd 1?2

] B Ii : :

E?,’ i?;isegranyoeus ! name- sonall kumari
wewman & Morgenstern roll-23
d) None of these sam 6

university roll-
180361019340
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1.If A =diag(3, -1), then matrix A is

0 3 X
@ lo -1] ® :: g

300 3 -1
V{O =1 @Dlo o

2. If matrices A and B are inverse of each other then

e AR BT g@t & gespA § ar AR

(a)AB = BA
AB=BA =1
c)AB=BA=0

(d)AB=0,BA =1

3. The diagonal elements of a skew symmetric matrix are

gafAT e & Rt aca §
a) all zeroes
(b) are all equal to some scalar k(# 0)
(c) can be any number
(d) none of these

4,

. 0 0 0 0 0
Zeromamceslo 0 Oland[O O]are

equal. State true or false.

%rue

(b) False
5.
Jy y 4 -1
If X+ _
7+ 4] [0 4|, find the values

of x and y.



(a) x=3,y=-1

M=7,y=-l

(c)x=4,y=2
(d)x=3,y=2
6.
3 -1 2
Given matrix 4 = (4 5§ 9|, write the
1 3 4
value of 3a,, - 4a;,.
(a) 5
(b
L |
(d) 4

7. The intermediate solutions of constraints must be checked by substituting them backinto
STt & ALTTAT FATLAT T ST I 3ee a9y Ffaedid fear s aifge

A) Objective function

Constraintequations
C) Notrequired

D) None of these

8. Of all the points of thefeasible region, for maximum or minimum of objective function, the pointlies

e & & @l gt & @, feercas a1 =gerad 3eda AR & foe, fig Pfea @
(apinside the feasible region
) at the boundary line of the feasible region
(c) vertex point of the boundary of the feasible region
(d) none of these

9.Feasible region is the set of points which satisfy

e &1 31 Tag3il &7 Tag & S dse A §
(a) the objective functions
(bgfsome of the given constraints

) all of the given constraints
(d) none of these

10.Inlinear programming the objective functions and constraints are

e ST # Seder F 3R am ¥



(a) adjacent

(b) quadratic
%near

(d) solved

11.which of the following is a component of linear programming model?

fATaf@d # & Pl WF Nt Alse F TH g 87
(a) Constraints

(b)objective function

(c) feasible region

MAII of the above

12.Forthe products X and Y, which of the following can be a objective function

3cumar & forw X3 v, et A ¥ &l & va 365eT B 81 Hahdl §

¢C=x+2y

(b) c =y— 2x?
(c) C=x+2x/y
(d) Allofthese

13.Ina LPP,the linear inequalities or restrictions on the variables are called
Tt 3, T OY AT AN AT GIAaE gl Sdr g

Linear constrains
(b) limits
(c) inequalities
(d) constraints

14. Which one of the following is a part of every game theory model?
fArfaf@a # @ #la a1 a7 By Alse &1 v B §?

(a) Players
(b) Payoffs

(¢ Possibilities
) Strategies
15. In game theory, a choice that is optimal for a firm no matter what its competitors do is referred to as

I @ A, v [heq S v ®F & AT gvean & AR 98 IS Yiicdeadt & &9 & weffla
(a) Dominant strategies

(bff Saddle point
) Super optimal

(d) None



16. Which of the following circumstances in an industry will result in a Nash equilibrium?

S 3T A Efafad # @ sl @ oRffufodt & v = dgee gen?

All firms have a dominant strategy, but only some choose to follow it.
(c) All firms have a dominant strategy, and none choose it.
(d) None of the above is correct.

%AII firms have a dominant strategy and each firm chooses its dominant strategy.
)

17. Which of the following describes a Nash equilibrium?

fArfaf@a & @ $iaT T Rr GgelsT FT 0T F 872

Every competing firm in an industry chooses a strategy that is optimal given the choices of every other firm.
Market price results in neither a surplus nor a shortage.
(d) All firms in an industry are earning zero economic profits.

(a)fA firm chooses its dominant strategy, if one exists
(C)

18. Which of the following is a nonzero-sum game?

Aefef@Eg & @ 39 e IdEg o & wa 22

WPrisoners' dilemma
b) Chess

(c) Competition among duopolists when market share is the payoff
(d) All of the above.

19. In game theory, a situation in which one firm can gain only what another firm loses is called a

A A A, v v U T v B9 dae e FT e § S gEY B gRAr §

nonzero-sum game.
) prisoners’ dilemma.

(c) zero-sum game.
(d) cartel temptation.

20. A strategy that is best regardless of what rival players do is called
S AT S gfdededt @enRdl & ara ff wag Fr Aar aew e §

(a) first-mover advantage.
(b) .a Nash equilibrium strategy.
(cf tit-for-tat.

) a dominant strategy.

21. A rule of expanding a determinant of order 3 is
3 A P R0 & TOR & TH Haq §---
) Sarrus Rule
(b) Bayes Rule
(c) Pascal Rule
(d) None of these

22. Who propounded the theory of input-output analysis?

3TaT- faereivor e gegd fRar?
) W.W.Leontief



(b) Howkins
(c) D.C.Simon
(d) Lagrange

23.In which year Input output analysis was introduced?

era-fEeta oo fFe a¥ gega fRar amar?

(g 1915

) 1951
(c) 1948
(d) 1932

24. In input output analysis, each industry produce only......... commodity?

- [@eNoT A gcds 3chiET dhdd..... a8 HT cucld Sl g7
(a
v
c) 3
(d) 4

25. Who introduces the concept of game theory?
Yol feuid 1 sauren Fae wwga #1?

(a) James Bernoulli

(byThomas Bayes
Newman & Morgenstern
d) None of these

Neha pandey
rollno:-20
semester:-6
Economics honors
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1.If A =diag(3, -1), then matrix A is

university roll no 180361019315

GURUNANAK COLLEGE, DHANABAD
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MID-TERM EXAMINATION

0 3 -1 0
@ lo -1] @3
0 3 -l
o —1] (d) o 0
2. If matrices A and B are inverse of each other then
g AR BUF g & SgewA ¢ ar Aead
(a)AB = BA
AB=BA =1
(c)AB=BA=0
(d)AB=0,BA =1

3. The diagonal elements of a skew symmetric matrix are

gafAa Aed & vt dca §
all zeroes
(b) are all equal to some scalar k(# 0)
(c) can be any number
(d) none of these

4,

0 0 0 0 0
equal. State true or false.

%u e

Zero matrices lo Ol and [0 0

e

(b) False
5.
Jy y 4 -]
If X+ _
7+ 4] [0 4|, find the values

of x and y.

Time; 45Min



(a)x=3,y=-1

x=7,y=-1
(c)x=4,y=2
(d)x=3,y=2
6.
3 -1 2
Given matrix 4 = (4 5§ 9|, write the
1 3 4
value of 3a,, - 4a;.
(@) 5
(b) 3

(c) -
o

7. The intermediate solutions of constraints must be checked by substituting them backinto
T3 & ALIAT AT FT ST e Iep gl giaenfid fFar ser aige
A) Objectivefunction

B) Constraintequations

C)Not required

D) None of these

8. Of all the points of the feasible region, for maximum or minimum of objective function, the pointlies

Tora a1 & @ [igait 7 &, 3rfeaw a1 7eTaw 3T @R & fov, fig Afga &

(a) inside the feasible region
b it the boundary line of the feasible region

vertex point of the boundary of the feasible region
(d) none of these

9.Feasible region is the set of points which satisfy

HerT &1 3o7 g3l T THE & Sff dse A &

(a) the objective functions
(b) spme of the given constraints
Mof the given constraints

none of these

10.Inlinear programming the objectivefunctions and constraints are

@ NanfAer A ey 1 3R Juw §



(a) adjacent

(b) quadratic

11.which of the followingisa component of linear programming model?
fArfaf@a # ¥ =la Was genfds Alsa &1 F g §?
(a) Constraints
(b)objectivefunction
feasible region

(d)Allof the above

12.For the products X and Y, which of the following can be aobjective function
3carel & AT X3 v, 7T & & Sl IO U 38T FFT @ Fhdl o

(a) C=x+2y
(b) c =y — 2x?
(c) C=x+2x/y

yf-\ll ofthese

13.Ina LPP, the linearinequalities or restrictions on the variables are called

TadidY &, T¢I HEAF HTAGAT T GIITY FHgh Sar &

(a) [Linearconstrains
b limits
inequalities

(d) constraints

14. Which one of the following is a part of every game theory model?
efef@a & ¥ &ia a1 7 ey dAlse &1 e fwar 82

(a) Players

(b) Payoffs

c)gPossibilities
Strategies

15. In game theory, a choice that is optimal for a firm no matter what its competitors do is referred to as

AT @ A, vh Bheq S v B & AT gvean & AR 9 IS Yfedcfadt & &9 # "Wefiia &

(a) Dominant strategies
b)#5addle point

Super optimal
(d) None



16. Which of the following circumstances in an industry will result in a Nash equilibrium?
T 3T A Feaf@a A @ sl @ oRfEfodl & v qer dgerer gen?

(a) 4l firms have a dominant strategy and each firm chooses its dominant strategy.
(b)}AIl firms have a dominant strategy, but only some choose to follow it.

All firms have a dominant strategy, and none choose it.
d) None of the above is correct.

17. Which of the following describes a Nash equilibrium?

@ & & &l v oer dgere &1 gofe I 82

(a) #rfirm chooses its dominant strategy, if one exists
byEvery competing firm in an industry chooses a strategy that is optimal given the choices of every other firm.

Market price results in neither a surplus nor a shortage.
(d) All firms in an industry are earning zero economic profits.

18. Which of the following is a nonzero-sum game?

Aeef@Eg & @ s e dAmg o & 1 g 22

(a) Prisoners’ dilemma
b Chess
Competition among duopolists when market share is the payoff

(d) All of the above.

19. In game theory, a situation in which one firm can gain only what another firm loses is called a
i = A, v o Y S e o Faa af effd #T g & S gElr v grar #

(a) nzero-sum game.
by prisoners’ dilemma.
Zero-sum game.

(d) cartel temptation.

20. A strategy that is best regardless of what rival players do is called
& WG A7 afdededr f@enfeat & arer $i1 uvarg & far @ed wwoT §
(a) first-mover advantage.
(b) a Nash equilibrium strategy.
(c) tit-for-tat.
(d) a dominant strategy.

21.%& of expanding a determinant of order 3 is
3 %A & ORUS & TaAX & TH Hgq §---

(a) Sarrus Rule

(b) Bayes Rule

(c) Pascal Rule

d) ,None of these

(
22%3 propounded the theory of input-output analysis?
Jmera-foveta faerewor fFaer gega e

(a) W.W.Leontief

v



(b) Howkins
(c) D.C.Simon
(d) Lagrange

23.In which year Input output analysis was introduced?
eTe-ferta favreivor e af gega fRar arar?
(a) gO15

(bgf1951
1948

d) 1932

24. In input output analysis, each industry produce only......... commodity?
rerc-foeta erewor & gk 3¢ dhad..... aFg HT 3cUcld il g7

(a) 1

(b) 2

\?f
(df4

25. Who introduces the concept of game theory?
T fFeyia T HTUROT Eel T&gd H1?

(a) James Bernoulli

(b) Thomas Bayes

(c) wman & Morgenstern
(d¥None of these
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1If A = diag(3, -1), then matrix A is p Uj a kU m a ri

0 3] -1 0

R I semb6
Vol | el rollno..132

-1
2. If matrices A and B are inverse of each other then

(@)

e AR BUs g@t & gespA § ar ARE
(a) 4B = BA

(@B:BA:l

(C)AB=BA=0

(d)AB=0,BA =1

3. The diagonal elements of a skew symmetric matrix are

oo aafaa #AftFa & RFTaca &
?/all zeroes
(D) are all equal to some scalar k(# 0)

(c) can be any number
(d) none of these

4,

" 0 0 0 0 0
Zeromatncesl0 0 Oland[0 O}are

equal. State true or false.

(g¥True

(b) False
5.
Jy y 4 -]
If X+ _
7+ 4] [0 4|, find the values

of x and y.



(a)x=3,y=-1

M:7'y= -1

(c)x=4,y=2
(d)x=3,y=2
6.
3 -1 2
Given matrix 4 = (4 5§ 9|, write the
1 3 4
value of 3a,, - 4a;,.
(a) 5
(b) 3
(c) -1

Vi
7. The intermediate solutions of constraints must be checked by substituting them backinto

JTEHT & ALTTAT AT T Siid FE 3oe a9 faeAid fFar s aifge
A) Objective function

%onstraintequations
C) Notrequired

D) None of these

8. Of all the points of thefeasible region, for maximum or minimum of objective function, the pointlies

T &1 F Tl g3t & A, 3R 1 ~g7an 35T FARE ¥ fow, g Pfga &

(a) inside the feasible region
(b) gt the boundary line of the feasible region
%nex point of the boundary of the feasible region
)

none of these

9.Feasible region is the set of points which satisfy

Ta &1 31 Tog3il &7 TIg & S dse IR §
(a) the objective functions
(b) some of the given constraints

(c)ll of the given constraints
Vﬁlo ne of these

10.Inlinear programming the objective functions and constraints are

Qs grenfaer & 3egza FR7 3R s §



(a) adjacent
(b) quadratic
linear

(d) solved

11.which of the following is a component of linear programming model?
fmfaf@a # & Fla Y@s danfFer Alga #1 tF g 872

(a) Constraints

Mabje ctivefunction

(c) feasible region

(d) All of the above

12.For the products X and Y, which of the following can be a objective function
3curel & fow X3 v, 5 7 & T 81 UF 35527 HaRie & §hdl ¢

(a) C=x+2y
c=y— 2x?

(c) C=x+2x/y

(d) Allofthese

13.Ina LPP, the linear inequalities or restrictions on the variables are called
Tt #, T 9 AT HHAGAIG AT GIAGE &gl ST @

(a) Linear constrains
(b) limits

(c) jnequalities
Monstraints
14. Which one of the following is a part of every game theory model?

fArfaf@a # @ #la @1 a7 Beua Alse &1 v B 82

(V{ Players

(b) Payoffs
(c) Possibilities
(d) Strategies

15. In game theory, a choice that is optimal for a firm no matter what its competitors do is referred to as

I @ A, v [hed S v BF & AT gvean ¢ AR 98 U Uideacadt & &9 & wefila @

(a) Dominant strategies
(b) Saddle point
(c) Super optimal

w None



16. Which of the following circumstances in an industry will result in a Nash equilibrium?
S 3T A Efdfad # @ sl @ oRffufadt & v dgee gene?

\({5) All firms have a dominant strategy and each firm chooses its dominant strategy.
(b) All firms have a dominant strategy, but only some choose to follow it.
(c) All firms have a dominant strategy, and none choose it.
(d) None of the above is correct.

17. Which of the following describes a Nash equilibrium?
frfaf@d # & Fla tF awr dgeret F gofT Hr 82

(a) A firm chooses its dominant strateqy, if one exists

(g4 Every competing firm in an industry chooses a strategy that is optimal given the choices of every other firm.
(c) Market price results in neither a surplus nor a shortage.

(d) All firms in an industry are earning zero economic profits.

18. Which of the following is a nonzero-sum game?
fAfaf@a & & &la e d-Nfaa afr &1 @« 2

M) Prisoners’ dilemma

(b) Chess

(c) Competition among duopolists when market share is the payoff
(d) All of the above.

19. In game theory, a situation in which one firm can gain only what another firm loses is called a
AT 2 A, v 0O Y Tad vF w4 Fad 3@ effd F THEA & ) gE0 FH gRar &

(a) nonzero-sum game.
(b) prisoners’ dilemma.
zero-sum game.

d) cartel temptation.

20. A strategy that is best regardless of what rival players do is called
s WA S gfdededt @enRdl & ara f wag Fr fAar aew e #

(a) first-mover advantage.
(b) a Nash equilibrium strategy.

(c) tit-for-tat.
) a dominant strategy.

21. A rule of expanding a determinant of order 3 is

3 ®H & OR0I® & 99N & U a8 &

(a) Sarrus Rule
Bayes Rule
c) Pascal Rule
(d) None of these
22. Who propounded the theory of input-output analysis?

mera-feta faereor e gega e
M W.W.Leontief



(b) Howkins
(c) D.C.Simon
(d) Lagrange

23.In which year Input output analysis was introduced?
mera-feeta oo fFa a¥ gega fRar amr?
(a) 1915
) 1951
(c) 1948
(d) 1932

24. In input output analysis, each industry produce only......... commodity?

Hera-fAeTa TFeremer & e 3¢ET Fad.... a8 H 3cUCl Sl 87
)1
\%E) 2
(c) 3
(d) 4

25. Who introduces the concept of game theory?
T eyl #T HTURCT hEel q&gd $HI?

w,) James Bernoulli

(b) Thomas Bayes

(c) Newman & Morgenstern

(d) None of these



GURUNANAK COLLEGE, DHANABAD

DEPARTMENT OF ECONOMICS

MID-TERM EXAMINATION

DSEIll (Group A)

Mathematical methods in economics 111

1.If A =diag(3, -1), then matrix A is

0 3 -1 0
@ lo -1] @3
30 . J
© 1o - (d) o 0

2. If matrices A and B are inverse of each other then

e AR BT g@t & gespA § ar AR
(a) AB = BA

(b)AB=BA =1

(c)AB=BA=0

(d)AB=0,BA=1

3. The diagonal elements of a skew symmetric matrix are

e gafag AT & AT aca &

(a) all zeroes

(b) are all equal to some scalar k(# 0)
can be any number

(d) none of these

4,

. 0 0 0 0 0
Zeromamceslo 0 Oland[O O]are

equal. State true or false.

(a) True
Walse
5.
Jy y 4 -1
If X+ _
7+ 4] [0 4|, find the values

of x and y.

Time; 45Min



(a)x=3,y=-1

M=71y= -1

(c)x=4,y=2
(d)x=3,y=2
6.
3 -1 2
Given matrix 4 = (4 5§ 9|, write the
1 3 4
value of 3a,, - 4a;,.
(a) 5
(b) 3
(c) -1

&4

7. The intermediate solutions of constraints must be checked by substituting them backinto
ST & HETTd! FHATIAT Sl SA1d dleh 3ep d9H TTAEATd fohdr S aifge

A) Objective function

@éonstraintequations

C) Notrequired

D) None of these

8. Of all the points of thefeasible region, for maximum or minimum of objective function, the pointlies

e & & @l gt & @, feercas a1 =gerad 3eda AR & foe, fig Pfea @
(a) inside the feasible region

(b) at the boundary line of the feasible region

(c) yertex point of the boundary of the feasible region

Mine of these

9.Feasible region is the set of points which satisfy

e &1 31 Tag3il &7 Tag & S dse A §
(a) the objective functions
(b) some of the given constraints

(c) 2ll of the given constraints
%0 ne of these

10.Inlinear programming the objective functions and constraints are

e ST # Seder F 3R am ¥



(a) adjacent
(b) quadratic

(c)linear
\(ysolved

11.which of the following is a component of linear programming model?

farfaf@a # & i {@s danfde Alsa &1 & g 82
(a) Constraints

(b)objective function

(c) feasible region

(d) All of the above

4

12.For the products X and Y, which of the following can be a objective function
3cumar & forw X3 v, et A ¥ &l & va 365eT B 81 Hahdl §

(a) C=x+2y

(b),c =y — 2x?
C=x+2x/y

(d) Allofthese

13.Ina LPP,the linear inequalities or restrictions on the variables are called
Tl #, T OY AT 3FFAGAN AT GIAEE gl Sar g

(a) Linear constrains
(b) limits

(c) inequalities
(d),constraints

v

14. Which one of the following is a part of every game theory model?
fArfaf@a # @ #la a1 a7 By Alse &1 v B §?

(a) Players

(b) Payoffs

(c) Possibilities
(d) Strategies

15. I\r%ame theory, a choice that is optimal for a firm no matter what its competitors do is referred to as

I @ A, vF [heq S v wF & AT gvean & AR 98 IS Yiacdeadt & &9 & wefila

(a) Dominant strategies
(b) Saddle point

(c) Super optimal

d)Y None



16. Which of the following circumstances in an industry will result in a Nash equilibrium?
S 3T A Efafad # @ sl @ oRffufodt & v = dgee gen?

(a) All firms have a dominant strategy and each firm chooses its dominant strategy.
(b) All firms have a dominant strategy, but only some choose to follow it.
MII firms have a dominant strategy, and none choose it.

) None of the above is correct.

17. Which of the following describes a Nash equilibrium?
fArfaf@a & @ $iaT T Rr GgelsT FT 0T F 872

(a) A firm chooses its dominant strategy, if one exists
(b) Every competing firm in an industry chooses a strategy that is optimal given the choices of every other firm.
(c), Market price results in neither a surplus nor a shortage.

All firms in an industry are earning zero economic profits.

18. Which of the following is a nonzero-sum game?
fAefaf@a & & &la e d-Afaa afr 1 @« 2

(a) Prisoners’ dilemma

(b) Chess

(c)  Competition among duopolists when market share is the payoff
All of the above.

19. In game theory, a situation in which one firm can gain only what another firm loses is called a
AT 2 A, v 0O Y Tad vF w9 dFad a@ effd F THEA & I g0 FH gRar &

(a) nonzero-sum game.
(b) prisoners’ dilemma.
(c) zero-sum game.
(d) cartel temptation.

20. %rate_qy that is best regardless of what rival players do is called
TF WENE S Sfededt e & Tl €1 A BU R qey o §
(a) first-mover advantage.
(b).a Nash equilibrium strategy.
tit-for-tat.
) a dominant strategy.

21. A rule of expanding a determinant of order 3 is
3 #A & OGRS & JOR & THh Haq §---
(a) Sarrus Rule
(b) Bayes Rule
(c) Pascal Rule
None of these

22. Who propounded the theory of input-output analysis?
mera-feta oo e gega e
(a) W.W.Leontief



(b) Howkins
(c) D.C.Simon
(d) Lagrange

23.I%hich year Input output analysis was introduced?
mera-fEeta e fFe a¥ gega fRar amr?

(a) 1915
(b) 1951
(c) 1948
@/1932

24. In input output analysis, each industry produce only......... commodity?
- [@eNoT A gcds 3chiET dhdd..... a8 HT cucld Sl g7

(a) 1
(b).2

i
) 4

25. Who introduces the concept of game theory?
Yol feuid 1 sauren Fae wwga #1?
(a) James Bernoulli

(b) Thomas Bayes
(c), Newman & Morgenstern

WNone of these

Name - Vikash oraon
roll no.- 498

sem - 06
session-(2010-2020
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1.If A=diag(3, -1), then matrix A is

0 3 -1 0]
@ ’n —1] @3 of
3 3 -1
lof (@) 0 o

2. If matrices A and B are inverse of each other then

I AR B UH g@ & JeshA & f Afcda
(@) BA
B=BA=|
(c)AB=BA=0
(d)AB=0,BA=1I

3. The diagonal elements of a skew symmetric matrix are

fareT ATw & oot dca &
roes
are all equal to some scalar k(# 0)

(c) can be any number
(d) none of these

4.

) 0 0 0 0 0
ZCl'GmaII‘IGE:S[ﬁ 0 g‘““d[g ﬂ}arc

equal. State true or false.

~g”

(b) False
5.
If[; ':i” il=[g '41|, find the values

of x and y.



(a)x=3,y=-1

(b) x5 g -1

(c)x=4,y=2

(d)x=3,y=2

6.
3 -1 2

Given matrix 4 = [4 5 9|, write the
1 3 4

value of 3a,, — 4a;,.
(a) 5

(

(d) 4

7. The intermediate solutions of constraints must be checked by substituting them backinto

3T & ALITAT GATTT T ST ¥ 3o a9g o Far Ser afge

A) Objective function

B) Constraintequations

C) Not required

8. Of all the points of the feasible region, for maximum or minimum of objective function, the point lies

g & & qel fogail A &, 3ifhdd A1 FgATH 3T FARE & forr, fig IGIGRS

(a) inside the feasible region
(b) at the boundary line of the feasible region
(c) vertex point of the boundary of the feasible region

(d)no nv these

9.Feasible region is the set of points which satisfy

Tara &1 31 g3l 7 Tag & S Ese ad &
(a) the objective functions

(b) some of the given constraints

(chgllgéshe given constraints

(d) none of these

10.In linear programming the objective functions and constraints are

@ NanfFr & 3eged Hr ik arenv §



(a) adjacent
(b) quadrati
r

(d) solved

11. which of the followingis a component of linear programming model?
Ffef@a & ¥ i Qs wanfder Alsa &1 T gea g2
(a) Constraints

(b)objective function

(c) feasible region
Me above

12.For the products X and Y, which of the following can be a objective function
3curel & fow X3 v, A & ¥ Sl IO1 Uh 36T BRI @ TR &

=X+2y
(b) c =y — 2x?
(c) C=x+2x/y
(d) Allofthese

13.Ina LPP, the linear inequalities or restrictions on the variables are called
T &, W W ITAE ARG AT Jfde Fel a1 &

(a) Linear constrains
(b) limits
(c) inequalities

(d)yaints

14. Which one of the following is a part of every game theory model?
Fef@a & @ Fia a1 d7 Beyia Alsa & ve e &2
(a) Players

(b) Payoffs
(c) Possiké

15. In game theory, a choice that is optimal for a firm no matter what its competitors do is referred to as

A 2 H, vF [Fhew N vk B & AT sveaA § TR I% U Ufdedgadl & & F Fefd e

(a) Dominant strategies
(b) Saddle point

(o) Supér optimal



16. Which of the following circumstances in an industry will result in a Nash equilibrium?
Teh 3@ A # @ i @ gREATTA & T oRr dgelel gHI?

irms have a dominant strategy and each firm chooses its dominant strategy.
(b) All firms have a dominant strategy, but only some choose to follow it.
(c) All firms have a dominant strategy, and none choose it.
(d) None of the above is correct.

17. Which of the following describes a Nash equilibrium?
fRrfaf@d # @ @i v oer dgeret &1 ol e 72

(a) A firm chooses its dominant strategy, if one exists

ry competing firm in an industry chooses a strategy that is optimal given the choices of every other firm.
(c) Market price results in neither a surplus nor a shortage.
(d) All firmsin an industry are earning zero economic profits.

18. Which of the following is a nonzero-sum game?

fRefaf@a & @ #ia v A-AfFAa R @1 Qo g2

(a) Prisoners’dilemv

(b) Chess
(c) Competition among duopolists when market share is the payoff
(d) All of the above.

19. In game theory, a situation in which one firm can gain only what another firm loses is called a
AA oA A, v v R FEH vh w dhad J@r g # Fhdr § ST g A gRAT &

(a) nonzero-sum game.
(b) pri ers’ dilemma.
( ro-sum game.
(d) cartel temptation.

20. A strategy that is best regardless of what rival players do is called
TS I0EATa SIt gfdeged! R@anfsdl & arer i wag e oar ae9d 3T §
(a) first-mover advantage.

(b) a Nash equilibrium strategy.
(c) tit-for-tat.

. (d) a W‘ninant strategy.

21. A rule of expanding a determinant of order 3 is

3 %A & ERMUI% & JAR & TH &I7 g---

(a) Sarrus Rule

22. Who propounded the theory of input-output analysis?
ra-fRerd ferewer fresr sega faRar?

a) .Leontief



(b) Howkins
(c) D.C.Simon
(d) Lagrange

23.In which year Input output analysis was introduced?
mara-feta fAerawor fFa a¥ gega fear amr?
(a) 1
51
c) 1948
(d) 1932

24. In input output analysis, each industry produce only......... commodity?
maTa-feta faerawor # g% 3eer &ad.....aEg FT 3cUalT Al 872

(a) 1 >

(c) 3

(d) 4

25. Who introduces the concept of game theory?
Yol Aeuid #1 FTURYT fhas T $1?

(a) James Bernoulli

(b) Thomas Bayes

man & Morgenstern
(d) None of these
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" Name -Kumari

ok 3 »[13 Neha Singh
oA

2. If matrices A and B are inverse of each other then

af A3 B g F g & ARTw

(a) AB = BA
WP AB=BA=|
Roll No -229

(d)AB=0,BA =1

Mathematical methods in economics 11

(d

3. The diagonal elements of a skew symmetric matrix are

oo gafaa ARFw & [T aca &

& all zeroes

(b) are all equal to some scalar k(# 0)
(c) can be any number

(d) none of these

4.

. 0 0 0 0 0
Zcmmatnceslﬂ 0 ﬂ]and{{] ﬂ]mc

equal. State true or false.

mrue

(b) False
5.
x+3y y| |4 -1
If =
I? . 4} Iﬂ 4|, find the values

of x and y.



(a)x=3,y=-1

%=7;y='1

(c)x=4,y=2

(d)x=3,y=2

6.
3 -1 2

Given matrix 4 = (4 5§ 9, write the
1 3 4

value of 3a,, — 4a;,.

(a) 5
(b) 3

w-l

(d) 4

7. The intermediate solutions of constraints must be checked by substituting them backinto

3T & ALITAT GATTT T ST ¥ 3o a9g o Far Ser afge

A) Objective function

<B#Onstraint equations
C) Not required

D) None of these

8. Of all the points of the feasible region, for maximum or minimum of objective function, the point lies

Tera a1 & @l gt 7 &, 3 d 1 ~geTa# 36T ARG & fov, fig Afga &
(a) inside the feasible region

(b) at the boundary line of the feasible region

«2) vertex point of the boundary of the feasible region

(d) none of these

9.Feasible region is the set of points which satisfy

Tara &1 31 g3l 7 Tag & S Ese ad &
(a) the objective functions
(b) some of the given constraints
ﬂall of the given constraints
(d) none of these

10.In linear programming the objective functions and constraints are

@ NanfFr & 3eged Hr ik arenv §



(a) adjacent
(b) quadratic

(c) unear

(d) solved

11. which of the following is a component of linear programming model?
Ffaf@d & ¥ w9 Qs W@ alsa 1 v ges 82

(a) Constraints

(##Bjective function

(c) feasible region

(d) All of the above

12.For the products X and Y, which of the following can be a objective function
3curel & fow X3 v, A & ¥ Sl IO1 Uh 36T BRI @ TR &
1 C=x+2y

(b) c =y — 2x?
(c) C=x+2x/y
(d) Allofthese

13.Ina LPP, the linear inequalities or restrictions on the variables are called
TEddT #, TR W 3FHRT AT IT Ifde gl SA1ar g

J{Linearconstrains
(b) limits

(c) inequalities

(d) constraints

14. Which one of the following is a part of every game theory model?
Fef@a & @ Fia a1 d7 Beyia Alsa & ve e &2

(a) Players
4P) Payoffs
(c) Possibilities
(d) Strategies

15. In game theory, a choice that is optimal for a firm no matter what its competitors do is referred to as

A Y H, v RFed S Uk B & [T gvedn § U aF A9 iiedead & w9 & defid @

(a ominant strategies
(b) Saddle point

(c) Super optimal

(d) None



16. Which of the following circumstances in an industry will result in a Nash equilibrium?
T 3¢ A PAefaf@a A @ wla @ aREAE # e e gges gen?

KAII firms have a dominant strategy and each firm chooses its dominant strategy.
(b) All firms have a dominant strategy, but only some choose to follow it.

(c) All firms have a dominant strategy, and none choose it.

(d) None of the above is correct.

17. Which of the following describes a Nash equilibrium?
fRrfaf@d # @ @i v oer dgeret &1 ol e 72

(a) A firm chooses its dominant strategy, if one exists

& Every competing firm in an industry chooses a strategy that is optimal given the choices of every other firm.
(c) Market price results in neither a surplus nor a shortage.

(d) All firmsin an industry are earning zero economic profits.

18. Which of the following is a nonzero-sum game?
fArfaf@a # & &la e I-Afaa afr &1 @« g2

M Prisoners’ dilemma

(b) Chess

(c) Competition among duopolists when market share is the payoff
(d) All of the above.

19. In game theory, a situation in which one firm can gain only what another firm loses is called a
AA oA A, v v R FEH vh w dhad J@r g # Fhdr § ST g A gRAT &

e nonzero-sum game.
(b) prisoners’ dilemma.
(c) zero-sum game.
(d) cartel temptation.

20. A strategy that is best regardless of what rival players do is called
TS I0EATa SIt gfdeged! R@anfsdl & arer i wag e oar ae9d 3T §
(a) first-mover advantage.
(b) a Nash equilibrium strategy.
(c) tit-for-tat.
&) a dominant strategy.

21. A rule of expanding a determinant of order 3 is
3 %A & ORUF & TOR & U& =gqd g---

@ Sarrus Rule
(b) Bayes Rule
(c) Pascal Rule

(d) None of these

22. Who propounded the theory of input-output analysis?

3TaTd- fareor fohde gega fohar?
.W.Leontief



(b) Howkins
(c) D.C.Simon
(d) Lagrange

23.In which year Input output analysis was introduced?
mara-feta fAerawor fFa a¥ gega fear amr?
(a) 1915

@#™o51

(c) 1948
(d) 1932

24. In input output analysis, each industry produce only......... commodity?
- T # yedE 3T Fae..... aEG HT 3cqare FIT 82

(a) 1

("2

(c) 3

(d) 4

25. Who introduces the concept of game theory?
Yol Aeuid $1 JTURVT hea T H1?

(a) James Bernoulli

(b) Thomas Bayes

(c) Newman & Morgenstern
S None of these



GURUNANAK COLLEGE, DHANABAD

DEPARTMENT OF ECONOMICS

MID-TERM EXAMINATION

DSE Il (Group A)

Mathematical methods in economics 11

.1.If A =diag(3, -1), then matrix A is

0 3 -1 0
@ ’n —1] @3 9
300 3 -1
) Iﬂ -1 @ o 0

2. If matrices A and B are inverse of each other then

I AR B UH g@ & JeshA & f Afcda
(a) AB = BA

(b)AB=BA=1|

(c)AB=BA=0

(d)AB=0,BA=1

3. The diagonal elements of a skew symmetric matrix are

oo gafaa ARFw & [T aca &

(a) all zeroes

(b) are all equal to some scalar k(# 0)
(c) can be any number

(d) none of these

4.

) 0 0 0 0 0
Zcmmatnceslﬂ 0 ﬂ‘and[ﬂ ﬂ}arc

equal. State true or false.

(a) True

(b) False

5.

x+3y vy 4 -]
If =
[-_.r T 4l [1} 4|, find the values

of x and y.

Time; 45Min



(a)x=3,y=-1

(b)x=7,y=-1

(c)x=4,y=2

(d)x=3,y=2

6.
3 -1 2

Given matrix 4 = [4 5 9|, write the
1 3 4

value of 3a,, — 4a;,.

7. The intermediate solutions of constraints must be checked by substituting them backinto

3T & ALITAT GATTT T ST ¥ 3o a9g o Far Ser afge

A) Objective function

. B) Constraintequations
C) Not required

D) None of these

8. Of all the points of the feasible region, for maximum or minimum of objective function, the point lies

Tera a1 & @l gl 7 &, e d A1 +geTad 3T ARG & fav, g g &
P (a) inside the feasible region

(b) at the boundary line of the feasible region

(c) vertex point of the boundary of the feasible region

(d) none of these

9.Feasible region is the set of points which satisfy

Tara &1 31 g3l 7 Tag & S Ese ad &
(a) the objective functions
) some of the given constraints
c) all of the given constraints
(d) none of these

10.In linear programming the objective functions and constraints are

@ NanfFr & 3eged Hr ik arenv §



(a) adjacent
(b) quadratic
(c)linear

(d) solved

11. which of the following is a component of linear programming model?
Ffaf@d & ¥ w9 Qs W@ alsa 1 v ges 82
(a) Constraints
(b)objective function
@ (c)feasible region

(d) All of the above

12.For the products X and Y, which of the following can be a objective function
3curel & fow X3 v, A & ¥ Sl IO1 Uh 36T BRI @ TR &

(a) C=x+2y

(b) c =y — 2x?
(c) C=x+2x/y
(d) Allofthese

13.Ina LPP, the linear inequalities or restrictions on the variables are called
TEddT #, TR W 3FHRT AT IT Ifde gl SA1ar g

@® (a) Linearconstrains
(b) limits
(c) inequalities
(d) constraints

14. Which one of the following is a part of every game theory model?
Fef@a & @ Fia a1 d7 Beyia Alsa & ve e &2

(a) Players
(b) Payoffs
(c) Possibilities
(d) Strategies

15. In game theory, a choice that is optimal for a firm no matter what its competitors do is referred to as

A 2 H, vF [Fhew N vk B & AT sveaA § TR I% U Ufdedgadl & & F Fefd e

@® (a) Dominant strategies
(b) Saddle point
(c) Super optimal
(d) None



16. Which of the following circumstances in an industry will result in a Nash equilibrium?
T 3¢ A PAefaf@a A @ wla @ aREAE # e e gges gen?

(a) All firms have a dominant strategy and each firm chooses its dominant strategy.
. (b) All firms have a dominant strategy, but only some choose to follow it.

(c) All firms have a dominant strategy, and none choose it.

(d) None of the above is correct.

17. Which of the following describes a Nash equilibrium?
fRrfaf@d # @ @i v oer dgeret &1 ol e 72

(a) A firm chooses its dominant strategy, if one exists

. (b) Every competing firm in an industry chooses a strategy that is optimal given the choices of every other firm.
(c) Market price results in neither a surplus nor a shortage.
(d) All firmsin an industry are earning zero economic profits.

18. Which of the following is a nonzero-sum game?
fArfaf@a # & &la e I-Afaa afr &1 @« g2

(a) Prisoners’ dilemma
(b) Chess

' (c) Competition among duopolists when market share is the payoff
(d) All of the above.

19. In game theory, a situation in which one firm can gain only what another firm loses is called a
AA oA A, v v R FEH vh w dhad J@r g # Fhdr § ST g A gRAT &

(a) nonzero-sum game.

(b) prisoners’ dilemma.
. (c) zero-sum game.

(d) cartel temptation.

20. A strategy that is best regardless of what rival players do is called
TS I0EATa SIt gfdeged! R@anfsdl & arer i wag e oar ae9d 3T §
(a) first-mover advantage.
. (b) a Nash equilibrium strategy.
(c) tit-for-tat.
(d) a dominant strategy.

21. A rule of expanding a determinant of order 3 is
3 %A & ORUF & TOR & U& =gqd g---

(a) Sarrus Rule

(b) Bayes Rule
. (c) Pascal Rule

(d) None of these

22. Who propounded the theory of input-output analysis?
mra-fRed ferewer fresr sega famar?
(a) W.W.Leontief



(b) Howkins
(c) D.C.Simon
(d) Lagrange

23’n which year Input output analysis was introduced?
3raTe-fAeta fereivor fhe a¥ gega fmar o

(a) 1915

(b) 1951

(c) 1948

(d) 1932

24. In input output analysis, each industry produce only......... commodity?
- T # yedE 3T Fae..... aEG HT 3cqare FIT 82

(a) 1

(b) 2

(c) 3

@ (4

25. Who introduces the concept of game theory?
Tol ey #T HaUROT hfel J&gd HI?
(a) James Bernoulli
. (b) Thomas Bayes
(c) Newman & Morgenstern
(d) None of these
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1.If A =diag(3, -1), then matrix A is

0 3 -1 0]
@ 'n —1] @3 of
30 3 -1
® Iu‘ -1 @ 0 o

2. If matrices A and B are inverse of each other then

afg A 3R B U g F gepA € A ARww

a) AB = BA
AB=BA=|

(C)AB=BA=0
(d)AB=0,BA =1

3. The diagonal elements of a skew symmetric matrix are

FAfAT A F (AT dca &

all zeroes
(b) are all equal to some scalar k(# 0)
(c) can be any number
(d) none of these

4.
. 0 0 0 0 0

Zero

matrices Iﬂ 0 D] and [{] {]} are
equal. State true or false.
‘True
(b) False
5.

x+3y vy 4 -]
If =
[? T 4} [1} 4|, find the values

of x and y.

Time; 45Min



(a)x=3,y=-1
Q X=7Iy=-1

(c)x=4,y=2

(d)x=3,y=2

Given matrix 4 =

— L
Lih

value of 3a,, — 4a;,.

(a) 5

8?1

(d) 4

7. The intermediate solutions of constraints must be checked by substituting them backinto

3T & ALITAT GATTT T ST ¥ 3o a9g o Far Ser afge

.Objective function
B) Constraintequations
C) Not required

D) None of these

8. Of all the points of the feasible region, for maximum or minimum of objective function, the point lies

Ty & & Tl [Nt & Q, 3R 71 ~graA 3o TARE & e, g ARka @

(apside the feasible region

(b) at the boundary line of the feasible region

(c) vertex point of the boundary of the feasible region

(d) none of these

9.Feasible region is the set of points which satisfy

Tara &1 31 g3l 7 Tag & S Ese ad &

(a) the objective functions

(b) some of the given constraints

all of the given constraints
) none of these

10.In linear programming the objective functions and constraints are

@ NanfFr & 3eged Hr ik arenv §



(a) adjacent
(b) quadratic

‘inear

(d) solved

11. which of the following is a component of linear programming model?
Ffaf@d & ¥ w9 Qs W@ alsa 1 v ges 82

(a) Constraints

(b)objective function

(c) feasible region

‘Allofthe above

12.For the products X and Y, which of the following can be a objective function
3curel & fow X3 v, A & ¥ Sl IO1 Uh 36T BRI @ TR &
' C=x+2y

(b) c =y — 2x?
(c) C=x+2x/y
(d) Allofthese

13.Ina LPP, the linear inequalities or restrictions on the variables are called
TEddT #, TR W 3FHRT AT IT Ifde gl SA1ar g

.) Linear constrains
(b) limits

(c) inequalities

(d) constraints

14. Which one of the following is a part of every game theory model?
Fef@a & @ Fia a1 d7 Beyia Alsa & ve e &2

(a) Players
(b) Payoffs
(c) Possibilities

‘ Strategies

15. In game theory, a choice that is optimal for a firm no matter what its competitors do is referred to as

A Y H, v RFed S Uk B & [T gvedn § U aF A9 iiedead & w9 & defid @

Q Dominant strategies
(b) Saddle point

(c) Super optimal

(d) None



16. Which of the following circumstances in an industry will result in a Nash equilibrium?
T 3¢ A PAefaf@a A @ wla @ aREAE # e e gges gen?

'AII firms have a dominant strategy and each firm chooses its dominant strategy.
(b) All firms have a dominant strategy, but only some choose to follow it.

(c) All firms have a dominant strategy, and none choose it.

(d) None of the above is correct.

17. Which of the following describes a Nash equilibrium?

fRrfaf@d # @ @i v oer dgeret &1 ol e 72

Every competing firm in an industry chooses a strategy that is optimal given the choices of every other firm.
(c) Market price results in neither a surplus nor a shortage.
(d) All firmsin an industry are earning zero economic profits.

3A firm chooses its dominant strategy, if one exists

18. Which of the following is a nonzero-sum game?
fArfaf@a # & &la e I-Afaa afr &1 @« g2

. Prisoners’ dilemma

(b) Chess

(c) Competition among duopolists when market share is the payoff
(d) All of the above.

19. In game theory, a situation in which one firm can gain only what another firm loses is called a
AA oA A, v v R FEH vh w dhad J@r g # Fhdr § ST g A gRAT &

(a) nonzero-sum game.
( prisoners’ dilemma.
(c) zero-sum game.
(d) cartel temptation.

20. A strategy that is best regardless of what rival players do is called
TS I0EATa SIt gfdeged! R@anfsdl & arer i wag e oar ae9d 3T §
(a) first-mover advantage.
(b) a Nash equilibrium strategy.
(c) tit-for-tat.
a dominant strategy.

21. A rule of expanding a determinant of order 3 is
3 %A & ORUF & TOR & U& =gqd g---

Sarrus Rule
(b) Bayes Rule
(c) Pascal Rule
(d) None of these

22. Who propounded the theory of input-output analysis?
- ferewer fresr sega famar?
W.W.Leontief



(b) Howkins
(c) D.C.Simon
(d) Lagrange

23.In which year Input output analysis was introduced?
mara-feta fAerawor fFa a¥ gega fear amr?
(a) 1915
1951
1948
(d) 1932

24. In input output analysis, each industry produce only......... commodity?
eTa-fetd faerawor # gdd 3eAer dad.....aEG FT IcUalT AT 872

1
(b) 2
(c) 3
(d) 4

25. Who introduces the concept of game theory?
Yol Aeuid #1 FTURYT fhas T $1?
(a) James Bernoulli
Thomas Bayes

Newman & Morgenstern
(d) None of these
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1.If A =diag(3, -1), then matrix A is

0 3 -1 0]
@ 'n —1] @3 9
0 3 -1

M 1 @ o 0

2. If matrices A and B are inverse of each other then

I AR B UH g@ & JeshA & f Afcda
(@) AB=BA
(b)AB=BA=1|
AB=BA=0
(d)AB=0,BA=1

3. The diagonal elements of a skew symmetric matrix are

oo gafaa ARFw & [T aca &

all zeroes
(b) are all equal to some scalar k(# 0)
(c) can be any number
(d) none of these

4.

Zero matrices Iﬂ 0 ﬂ] and [D ﬂ} are

0 0 0 0 0
y State true or false. ‘

True

(b) False

5.
x+3y y|l_[4 -1

If =
[? Cx 4} [1} 4|, find the values

of x and y.



(a)x=3,y=-1

NPT y=1

(c)x=4,y=2

(d)x=3,y=2

6.
3 -1 2

Given matrix 4 = (4 5§ 9, write the
1 3 4

value of 3a,, — 4a;,.
(a) 5
(b) 3
-1
(d) 4

7. The intermediate solutions of constraints must be checked by substituting them backinto

3T & ALITAT GATTT T ST ¥ 3o a9g o Far Ser afge

A) Objective function

B) Constraintequations

C) Not required

yne of these

8. Of all the points of the feasible region, for maximum or minimum of objective function, the point lies

Ty & & Tl [Nt & J, 3R 71 ~graA 3o TARE & e, fig ARka @

\)ﬂﬁside the feasible region

(b) at the boundary line of the feasible region
(c) vertex point of the boundary of the feasible region
(d) none of these

9.Feasible region is the set of points which satisfy

Tara &1 31 g3l 7 Tag & S Ese ad &
(a) the objective functions

(b) some of the given constraints

(c) all of the given constraints

wno ne of these

10.In linear programming the objective functions and constraints are

@ NanfFr & 3eged Hr ik arenv §



(a) adjacent
(b) quadratic
(c)gmear

(d) solved

11. which of the followingis a component of linear programming model?
Ffef@a & ¥ i Qs wanfder Alsa &1 T gea g2
(a) Constraints

(b)objective function

\yéasible region

(d) All of the above

12.For the products X and Y, which of the following can be a objective function
3curel & fow X3 v, A & ¥ Sl IO1 Uh 36T BRI @ TR &

(a) C=x+2y
(b) c =y — 2x?
(c) C=x+2x/y

yAllofthese

13.Ina LPP, the linear inequalities or restrictions on the variables are called
TEddT #, TR W 3FHRT AT IT Ifde gl SA1ar g

(a) Linear constrains
(b) limits

Inequalities
d) constraints

14. Which one of the following is a part of every game theory model?
fAefaf@a & & Fid a1 7 Reuid Alsd & T B 82 °
(a) Players

(b) Payoffs
(c) Possibilities

J Strategies

15. In game theory, a choice that is optimal for a firm no matter what its competitors do is referred to as

A Y H, v RFed S Uk B & [T gvedn § U aF A9 iiedead & w9 & defid @

\gSominant strategies
) Saddle point

(c) Super optimal
(d) None



16. Which of the following circumstances in an industry will result in a Nash equilibrium?
T 3¢ A PAefaf@a A @ wla @ aREAE # e e gges gen?

(a) All firms have a dominant strategy and each firm chooses its dominant strategy.
(b) All firms have a dominant strategy, but only some choose to follow it.
(c) All firms have a dominant strategy, and none choose it.

None of the above is correct.

17. Which of the following describes a Nash equilibrium?
fRrfaf@d # @ @i v oer dgeret &1 ol e 72

(a) A firm chooses its dominant strategy, if one exists

(b) Every competing firm in an industry chooses a strategy that is optimal given the choices of every other firm.
\y Market price results in neither a surplus nor a shortage.

(d) All firmsin an industry are earning zero economic profits.

18. Which of the following is a nonzero-sum game?
fArfaf@a # & &la e I-Afaa afr &1 @« g2

(a) Prisoners’ dilemma

) Chess
(c) Competition among duopolists when market share is the payoff
(d) All of the above.

19. In game theory, a situation in which one firm can gain only what another firm loses is called a
AA oA A, v v R FEH vh w dhad J@r g # Fhdr § ST g A gRAT &

(a) nonzero-sum game.
prisoners’ dilemma.

C) zero-sum game.

(d) cartel temptation.

20. A strategy that is best regardless of what rival players do is called

T R S gfdegedr R@enfsat & arar fY ware e ffer ged T §

M first-mover advantage.

(b) a Nash equilibrium strategy.
(c) tit-for-tat.
(d) a dominant strategy.

21. A rule of expanding a determinant of order 3 is
3 %A & ORUF & TOR & U& =gqd g---
(a) Sarrus Rule

(b) yes Rule
(cyPascal Rule
None of these

22. Who propounded the theory of input-output analysis?
3TaTd- fareor fohde gega fohar?
W.W.Leontief



(b) Howkins
(c) D.C.Simon
(d) Lagrange

23.In which year Input output analysis was introduced?
3raTe-fAeta fereivor fhe a¥ gega fmar o

(a) 1915

1951
c) 1948
(d) 1932

24. In input output analysis, each industry produce only......... commodity?

- RN & g3 3@ Fael..... TE H 3cUeld HIAT &7

1
‘/(Obn)z

(c) 3
(d) 4

25. Who introduces the concept of game theory?

Tol ey #T HaUROT hfel J&gd HI?
\/) James Bernoulli
(b) Thomas Bayes
(c) Newman & Morgenstern
(d) None of these

Rohit Kumar
Roll --507
BA hon's
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1.If A =diag(3, -1), then matrix A is

.0 o wpgKUMAari class

8 efbdrollno-24

2. If matrices A and B.are inverse of each other then

st nversity

SPAB =BA=|

()AB=BA=0

rolino-1803

3. The diagonal |Iements of a skew symmetric matrix are

foreT gafaa Afted & st aca §
8 zeroes
(b) are all equal to some scalar k(# 0)
(c) can be any number
(d) none of these S u b ° e C't
4, J
. 0 0
===l o i~ fnathematics
equal. State true or false.

(a) True

s~ @conhomic

5.

v o e group A)

T-x
of x and y.



(a)x=3,y=-1
ey =-1
(c)x=4,y=2

(d)x=3,y=2

Given matrix 4 =

—
Lih
=
é.
=2
[1:]

value of 3a,, — 4a;,.

(a) 5
(b) 3

1

(d) 4

7. The intermediate solutions of constraints must be checked by substituting them backinto

3T & ALITAT GATTT T ST ¥ 3o a9g o Far Ser afge

A) Objective function

Mtraintequations

C) Not required

D) None of these

8. Of all the points of the feasible region, for maximum or minimum of objective function, the point lies

et & & |l Rt F &, fUeras a1 =gaTae 3eced #ARg & fov, g Pfea &
(a) inside the feasible region
eiamaisshe boundary line of the feasible region
(c) vertex point of the boundary of the feasible region
(d) none of these

9.Feasible region is the set of points which satisfy

Tara &1 31 g3l 7 Tag & S Ese ad &
(a) the objective functions
(b) some of the given constraints

@@l of the given constraints
(d) none of these

10.In linear programming the objective functions and constraints are

@ NanfFr & 3eged Hr ik arenv §



(a) adjacent
(b) quadratic

war

(d) solved

11. which of the followingis a component of linear programming model?
Ffef@a & ¥ i Qs wanfder Alsa &1 T gea g2
(a) Constraints

(b)objective function

(c) feasible region

Wthe above

12.For the products X and Y, which of the following can be a objective function
3curel & fow X3 v, A & ¥ Sl IO1 Uh 36T BRI @ TR &

=xX+2y
(b) c =y — 2x?
(c) C=x+2x/y
(d) Allofthese

13.Ina LPP, the linear inequalities or restrictions on the variables are called

TAddY H, TR 9 3 HART HHATATT AT YTdeeT gl ST &

ﬁnear constrains

(b) limits
(c) inequalities
(d) constraints

14. Which one of the following is a part of every game theory model?
Fef@a & @ Fia a1 d7 Beyia Alsa & ve e &2

(a) Players
(b) Payoffs
(c) Possibilities

efim@Wategies

15. In game theory, a choice that is optimal for a firm no matter what its competitors do is referred to as

A 2 H, vF [Fhew N vk B & AT sveaA § TR I% U Ufdedgadl & & F Fefd e

P ominant strategies
(b) Saddle point
(c) Super optimal
(d) None



16. Which of the following circumstances in an industry will result in a Nash equilibrium?
T 3¢ A PAefaf@a A @ wla @ aREAE # e e gges gen?

firms have a dominant strategy and each firm chooses its dominant strategy.
(b) All firms have a dominant strategy, but only some choose to follow it.
(c) All firms have a dominant strategy, and none choose it.
(d) None of the above is correct.

17. Which of the following describes a Nash equilibrium?
fRrfaf@d # @ @i v oer dgeret &1 ol e 72

(a) A firm chooses its dominant strategy, if one exists

very competing firm in an industry chooses a strategy that is optimal given the choices of every other firm.
(c) Market price results in neither a surplus nor a shortage.
(d) All firmsin an industry are earning zero economic profits.

18. Which of the following is a nonzero-sum game?

fRefaf@a & @ #ia v A-AfFAa R @1 Qo g2

@ Brisoners’ dilemma
(b) Chess
(c) Competition among duopolists when market share is the payoff

(d) All of the above.

19. In game theory, a situation in which one firm can gain only what another firm loses is called a

e
AA oA A, v v R FEH vh w dhad J@r g # Fhdr § ST g A gRAT &

(a) nonzero-sum game.
(b) prisoners’ dilemma.

@ ero-sum game.
(d) cartel temptation.

20. A strategy that is best regardless of what rival players do is called
T AT S gfdededr @enfsat & arer it warg e foar a8 eor ¢

(a) first-mover advantage.
(b) a Nash equilibrium strategy.
(c) tit-for-tat.

“dominant strategy.

21. A rule of expanding a determinant of order 3 is

3 %A & IRUF & JOR & T &7 §---
Q™% rrus Rule

(b) Bayes Rule
(c) Pascal Rule
(d) None of these

22. Who propounded the theory of input-output analysis?
mra-fRed ferewer fresr sega famar?

Montief



(b) Howkins
(c) D.C.Simon
(d) Lagrange

23.In which year Input output analysis was introduced?
mara-feta fAerawor fFa a¥ gega fear amr?
(a) 1915

“fumlos1
(c) 1948

(d) 1932

24. In input output analysis, each industry produce only......... commodity?
maTa-feta faerawor # g% 3eer &ad.....aEg FT 3cUalT Al 872
e
(b) 2
(c) 3
(d) 4

25. Who introduces the concept of game theory?
Yol Aeuid #1 FTURYT fhas T $1?

(a) James Bernoulli

(b) Thomas Bayes

amm®wman & Morgenstern
(d) None of these
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1.If A =diag(3, -1), then matrix A is

0 3 -1 0]
@l 3 o

| 3 DJ
3 0 3 -1
\(Vlﬂ -1 @ 0 0

2. If matrices A and B are inverse of each other then

afg A 3R B U g F gepA € A ARww

(@) AB = BA
AB=BA=I
C)AB=BA=0

(d)AB=0,BA =1

3. The diagonal elements of a skew symmetric matrix are

oo gafaa ARFw & [T aca &

(a) all zeroes

(b)are all equal to some scalar k(# 0)
\w%can be any number

(d) none of these

4.

) 0 0 0 0 0
Zcmmatnceslﬂ 0 D]and[{] ﬂ}arc

equal. State true or false.

\(%rue

(b) False
5.
x+3y vy 4 -]
If =
[? . 4} [1} 4|, find the values

of x and y.



(a)x=3,y=-1

\(y<=7,y=-1

(c)x=4,y=2

(d)x=3,y=2

6.
3 -1 2

Given matrix 4 = (4 5§ 9, write the
1 3 4

value of 3a,, — 4a;,.

(a) 5
(b) 3

!

(d) 4

7. The intermediate solutions of constraints must be checked by substituting them backinto

3T & ALITAT GATTT T ST ¥ 3o a9g o Far Ser afge

A) Objective function

\B%Jnstraintequations

C) Not required

D) None of these

8. Of all the points of the feasible region, for maximum or minimum of objective function, the point lies

Tera a1 & @l gt 7 &, 3 d 1 ~geTa# 36T ARG & fov, fig Afga &
(a) inside the feasible region
(b)at the boundary line of the feasible region
vertex point of the boundary of the feasible region
(d) none of these

9.Feasible region is the set of points which satisfy

Tara &1 31 g3l 7 Tag & S Ese ad &
(a) the objective functions
some of the given constraints
(c) all of the given constraints
(d) none of these

10.In linear programming the objective functions and constraints are

@ NanfFr & 3eged Hr ik arenv §



(a) adjacent
(b) quadratic

Mnear

(d) solved

11. which of the followingis a component of linear programming model?

Ffaf@d & ¥ w9 Qs W@ alsa 1 v ges 82
(a) Constraints

(b)objective function

(c) feasible region

(d) Kl of the above

12.For the products X and Y, which of the following can be a objective function

3carer & o X3 v, e 7 & Fl a1 0 38T B & TehT &

\{/C=x+2y

(b) c =y — 2x?
(c) C=x+2x/y
(d) Allofthese

13.Ina LPP, the linear inequalities or restrictions on the variables are called

TAddY H, TR 9 3 HART HHATATT AT YTdeeT gl ST &

\1/ Linear constrains

(b) limits
(c) inequalities
(d) constraints

14. Which one of the following is a part of every game theory model?

fAefaf@a & & Fid a1 7 Reuid Alsd & T B 82

(a) Players
Payoffs
(c) Possibilities

(d) Strategies

15. In game theory, a choice that is optimal for a firm no matter what its competitors do is referred to as

A Y H, v RFed S Uk B & [T gvedn § U aF A9 iiedead & w9 & defid @

%ominant strategies

(b) Saddle point
(c) Super optimal
(d) None



16. Which of the following circumstances in an industry will result in a Nash equilibrium?
T 3¢ A PAefaf@a A @ wla @ aREAE # e e gges gen?

\S?AI firms have a dominant strategy and each firm chooses its dominant strategy.
) All firms have a dominant strategy, but only some choose to follow it.

(c) All firms have a dominant strategy, and none choose it.

(d) None of the above is correct.

17. Which of the following describes a Nash equilibrium?
fRrfaf@d # @ @i v oer dgeret &1 ol e 72

(a) A firm chooses its dominant strategy, if one exists

Every competing firm in an industry chooses a strategy that is optimal given the choices of every other firm.
(c) Market price results in neither a surplus nor a shortage.
(d) All firmsin an industry are earning zero economic profits.

18. Which of the following is a nonzero-sum game?

fRefaf@a & @ #ia v A-AfFAa R @1 Qo g2

MPrisoners’dilemma

(b) Chess
(c) Competition among duopolists when market share is the payoff
(d) All of the above.

19. In game theory, a situation in which one firm can gain only what another firm loses is called a
AA oA A, v v R FEH vh w dhad J@r g # Fhdr § ST g A gRAT &

\(X{nonzero—sum game.

(b) prisoners’ dilemma.
(c) zero-sum game.
(d) cartel temptation.

20. A strategy that is best regardless of what rival players do is called
TS 0T It gfdeged! R@anfsdl & arer 1 wag e oar ae9d 3T §
(gf first-mover advantage.
) a Nash equilibrium strategy.
(c) tit-for-tat.
(d) a dominant strategy.

21. A rule of expanding a determinant of order 3 is

3 FH &, & JOR & T @97 g---
Sarrus Rule

(b) Bayes Rule
(c) Pascal Rule
(d) None of these

22. Who prgpounded the theory of input-output analysis?
3TaTd- AOIVOT fohelel goge fahar?
.W.Leontief




(b) Howkins
(c) D.C.Simon
(d) Lagrange

23.In which year Input output analysis was introduced?
mara-feta fAerawor fFa a¥ gega fear amr?
(a) 1915
1951
(c) 1948
(d) 1932

24. In input output analysis, each industry produce only......... commodity?
- RS & g3 3@ Fael..... TE H 3cUeld FIAT &7

wrl

(b) 2

(c) 3

(d) 4

25. Who introduces the concept of game theory?
Yol Aeuid #1 FTURYT fhas T $1?
(a) James Bernoulli
(b) Ahomas Bayes
Newman & Morgenstern
(d) None of these
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1.If A =diag(3, -1), then matrix A is

® 1 3 1 0
@ ’n —1] @3 9

300 3 -1
) Iﬂ -1 @ o 0

2. If matrices A and B are inverse of each other then

I AR B UH g@ & JeshA & f Afcda
(a) AB = BA

@) AB=BA=I

(c)AB=BA=0

(d)AB=0,BA=1

3. The diagonal elements of a skew symmetric matrix are

oo gafaa ARFw & [T aca &

(a) all zeroes

(b) are all equal to some scalar k(# 0)
(c) can be any number

(d) none of these

4.

) 0 0 0 0 0
Zcmmatnceslﬂ 0 ﬂ‘and[ﬂ ﬂ}arc

equal. State true or false.

(a) True

(b)False @

5.

x+3y vy 4 -]
If =
[-_.r T 4l [1} 4|, find the values

of x and y.

Time; 45Min



(a)x=3,y=-1

.(b)x=7,y=-1
(c)x=4,y=2
(d)x=3,y=2
6.
3 -1 2
Given matrix 4 = [4 5 9|, write the
1 3 4

value of 3a,, — 4a;,.

(@) 5
(b) 3
(c) -1
(d) 4

7. The intermediate solutions of constraints must be checked by substituting them backinto

3T & ALITAT GATTT T ST ¥ 3o a9g o Far Ser afge

A) Objective function
B) Constraintequations
C) Not required

D) None of these

8. Of all the points of the feasible region, for maximum or minimum of objective function, the point lies

T &7 F Tl [Nt 7 I, sfeas a1 =aeaa 3ageT @R & v, Mg PRa €
(a) inside the feasible region
(b) at the boundary line of the feasible region
® (c) vertex point of the boundary of the feasible region
(d) none of these

9.Feasible region is the set of points which satisfy

Tara &1 31 g3l 7 Tag & S Ese ad &
@ (@) the objective functions

(b) some of the given constraints

(c) all of the given constraints

(d) none of these

10.In linear programming the objective functions and constraints are

@ NanfFr & 3eged Hr ik arenv §



.(a) adjacent
(b) quadratic
(c)linear

(d) solved

11. which of the following is a component of linear programming model?
Ffaf@d & ¥ w9 Qs W@ alsa 1 v ges 82
(a) Constraints
@ (b)objective function
(c) feasible region

(d) All of the above

12.For the products X and Y, which of the following can be a objective function
3curel & fow X3 v, A & ¥ Sl IO1 Uh 36T BRI @ TR &

(a) C=x+2y

(b) c =y — 2x?
® (c) C=x+2x/y

(d) Allofthese

13.Ina LPP, the linear inequalities or restrictions on the variables are called
TEddT #, TR W 3FHRT AT IT Ifde gl SA1ar g

(a) Linear constrains
@  b) iimits

(c) inequalities

(d) constraints

14. Which one of the following is a part of every game theory model?
Fef@a & @ Fia a1 d7 Beyia Alsa & ve e &2

(a) Players
(b) Payoffs
(c) Possibilities
(d) Strategies

15. In game theory, a choice that is optimal for a firm no matter what its competitors do is referred to as

A 2 H, vF [Fhew N vk B & AT sveaA § TR I% U Ufdedgadl & & F Fefd e

(a) Dominant strategies
(b) Saddle point

(c) Super optimal

(d) None



16. Which of the following circumstances in an industry will result in a Nash equilibrium?
T 3¢ A PAefaf@a A @ wla @ aREAE # e e gges gen?

(a) All firms have a dominant strategy and each firm chooses its dominant strategy.
. (b) All firms have a dominant strategy, but only some choose to follow it.

(c) All firms have a dominant strategy, and none choose it.

(d) None of the above is correct.

17. Which of the following describes a Nash equilibrium?
fRrfaf@d # @ @i v oer dgeret &1 ol e 72

(a) A firm chooses its dominant strategy, if one exists

(b) Every competing firm in an industry chooses a strategy that is optimal given the choices of every other firm.
(c) Market price results in neither a surplus nor a shortage.

(d) All firmsin an industry are earning zero economic profits.

18. Which of the following is a nonzero-sum game?
fArfaf@a # & &la e I-Afaa afr &1 @« g2

. (a) Prisoners’ dilemma
(b) Chess
(c) Competition among duopolists when market share is the payoff
(d) All of the above.

19. In game theory, a situation in which one firm can gain only what another firm loses is called a
AA oA A, v v R FEH vh w dhad J@r g # Fhdr § ST g A gRAT &

® (a) nonzero-sum game.
(b) prisoners’ dilemma.
(c) zero-sum game.
(d) cartel temptation.

20. A strategy that is best regardless of what rival players do is called
TS I0EATa SIt gfdeged! R@anfsdl & arer i wag e oar ae9d 3T §
(a) first-mover advantage.
(b) a Nash equilibrium strategy.
. (c) tit-for-tat.
(d) a dominant strategy.

21. A rule of expanding a determinant of order 3 is
3 %A & IRUIF & TOR & Th gd g
. (a) Sarrus Rule
(b) Bayes Rule
(c) Pascal Rule
(d) None of these

22. Who propounded the theory of input-output analysis?
mra-fRed ferewer fresr sega famar?
(a) W.W.Leontief



(b) Howkins
(c) D.C.Simon

. (d) Lagrange

23.In which year Input output analysis was introduced?
3raTe-fAeta fereivor fhe a¥ gega fmar o

(a) 1915

(b) 1951

(c) 1948

(d) 1932

24. In input output analysis, each industry produce only......... commodity?
maTa-feta faerawor # g% 3eer &ad.....aEg FT 3cUalT Al 872
® @1
(b) 2
(c) 3
(d) 4

25. Who introduces the concept of game theory?
Tol ey #T HaUROT hfel J&gd HI?

(a) James Bernoulli

(b) Thomas Bayes

(c) Newman & Morgenstern

(d) None of these
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1.If A =diag(3, -1), then matrix A is

0 3 -1 0]
@ 'n —1] ®) |3 0
3,0 (3 —1
(c) 1 (d) o o]

2. If matrices A and B are inverse of each other then

afg A 3R B U g F gepA € A ARww
(a) AB =BA

\ATAB=BA=|

(C)AB=BA=0
(d)AB=0,BA =1

3. The diagonal elements of a skew symmetric matrix are

fover gafaa ARFw & [T aca &

%zero es

(b) are all equal to some scalar k(# 0)
(c) can be any number
(d) none of these

4,
. 0 0 0 0 0
Zero
matrices Iﬂ 0 D] and [{] {]} are
equal. State true or false.
N\ rue
(b) False
5.
x+3y vy 4 -]
If =
[? Cx 4} [1} 4|, find the values

of x and y.

Time; 45Min



(a)x=3,y=-1

%=7,v=-1

(c)x=4,y=2

(d)x=3,y=2

6.
3 -1 2

Given matrix 4 = (4 5§ 9, write the
1 3 4

value of 3a,, — 4a;,.

(a) 5

(b) 3
1

(d) 4

7. The intermediate solutions of constraints must be checked by substituting them backinto

3T & ALITAT GATTT T ST ¥ 3o a9g o Far Ser afge

A) Objective function

Wstraintequations

C) Not required

D) None of these

8. Of all the points of the feasible region, for maximum or minimum of objective function, the point lies

Tera a1 & @l gt 7 &, 3 d 1 ~geTa# 36T ARG & fov, fig Afga &
(a) inside the feasible region
\Mthe boundary line of the feasible region
(c) vertex point of the boundary of the feasible region
(d) none of these

9.Feasible region is the set of points which satisfy

Tara &1 31 g3l 7 Tag & S Ese ad &
(a) the objective functions
(b) some of the given constraints
| of the given constraints
(d) none of these

10.In linear programming the objective functions and constraints are

@ NanfFr & 3eged Hr ik arenv §



(a) adjacent
(b) quadratic

\Ainear

(d) solved

11. which of the followingis a component of linear programming model?
Ffef@a & ¥ i Qs wanfder Alsa &1 T gea g2
(a) Constraints

(b)objective function

(c) feasible region

T Al Of the above

12.For the products X and Y, which of the following can be a objective function
3curel & fow X3 v, A & ¥ Sl IO1 Uh 36T BRI @ TR &

N\t = + 2y
(b) c =y — 2x?
(c) C=x+2x/y
(d) Allofthese

13.Ina LPP, the linear inequalities or restrictions on the variables are called
TEddT #, TR W 3FHRT AT IT Ifde gl SA1ar g

@ear constrains
(b) limits
(c) inequalities
(d) constraints

14. Which one of the following is a part of every game theory model?
Fef@a & @ Fia a1 d7 Beyia Alsa & ve e &2

(a) Players
(b) Payoffs
(c) Possibilities

\ytrategies

15. In game theory, a choice that is optimal for a firm no matter what its competitors do is referred to as

A Y H, v RFed S Uk B & [T gvedn § U aF A9 iiedead & w9 & defid @

(a) Dominant strategies
(b) Saddle point

uper optimal
(d) None



16. Which of the following circumstances in an industry will result in a Nash equilibrium?
T 3¢ A PAefaf@a A @ wla @ aREAE # e e gges gen?

| firms have a dominant strategy and each firm chooses its dominant strategy.
(b) All firms have a dominant strategy, but only some choose to follow it.
(c) All firms have a dominant strategy, and none choose it.
(d) None of the above is correct.

17. Which of the following describes a Nash equilibrium?
fRrfaf@d # @ @i v oer dgeret &1 ol e 72

(a) A firm chooses its dominant strategy, if one exists

very competing firm in an industry chooses a strategy that is optimal given the choices of every other firm.
(c) Market price results in neither a surplus nor a shortage.
(d) All firmsin an industry are earning zero economic profits.

18. Which of the following is a nonzero-sum game?
fArfaf@a # & &la e I-Afaa afr &1 @« g2

\-—Quﬁrisoners’dilemma

(b) Chess
(c) Competition among duopolists when market share is the payoff
(d) All of the above.

19. In game theory, a situation in which one firm can gain only what another firm loses is called a
AA oA A, v v R FEH vh w dhad J@r g # Fhdr § ST g A gRAT &

onzero-sum game.
(b) prisoners’ dilemma.
(c) zero-sum game.
(d) cartel temptation.

20. A strategy that is best regardless of what rival players do is called
T AT S gfdededr @enfsat & arer it warg e foar a8 eor ¢
(a) first-mover advantage.

(b) a Nash equilibrium strategy.
(c) tit-for-tat.

\-y dominant strategy.

21. A rule of expanding a determinant of order 3 is
3 %A & IRUF & JOR & T &7 §---
Sarrus Rule
(b) Bayes Rule
(c) Pascal Rule
(d) None of these

22. Who propounded the theory of input-output analysis?
mra-fRed ferewer fresr sega famar?

w W.W.Leontief



(b) Howkins
(c) D.C.Simon
(d) Lagrange

23.In which year Input output analysis was introduced?
mara-feta fAerawor fFa a¥ gega fear amr?
(a) 1915

N\t T951

(c) 1948
(d) 1932

24. In input output analysis, each industry produce only......... commodity?
maTa-feta faerawor # g% 3eer &ad.....aEg FT 3cUalT Al 872

(a)

2
(c) 3
(d) 4

25. Who introduces the concept of game theory?
Yol Aeuid #1 FTURYT fhas T $1?

(a) James Bernoulli

(b) Thomas Bayes

Newman & Morgenstern
(d) None of these

Aditi jaiswal
Sem 6
Roll 145



GURUNANAK COLLEGE, DHANABAD

DEPARTMENT OF ECONOMICS
MID-TERM EXAMINATION

DSE Il (Group A) Time; 45Min

Mathematical methods in economics 111 N a m e_N i kit a
1.If A =diag(3, -1), then matrix A is °
» opy  Sinha

@) 'g -1 @13 o
] wf - Roll.no_90

2. If matrices A and B are inverse of each other then S e m 6 E C O
[}

afg A 3R B U g F gepA € A ARww
(a) AB = BA

e hons.

(d)AB=0,BA =1

3. The diagonal elements of a skew symmetric matrix are

oo gafaa ARFw & [T aca &

all zeroes
(b) are all equal to some scalar k(# 0)
(c) can be any number
(d) none of these

4.

: 0 0 0 0 0
Zcmmah‘meslﬂ 0 D]andLJ ﬂ}arc

equal. State true or false.

o

(b) False
5.
x+3y y| |4 -1
If =
[? . 4} [1} 4|, find the values

of x and y.



(a)x=3,y=-1

Sl 7 =1

(c)x=4,y=2

(d)x=3,y=2

6.
3 -1 2

Given matrix 4 = (4 5§ 9, write the
1 3 4

value of 3a,, — 4a;,.
(a) 5
(b) 3
-1
(d) 4

7. The intermediate solutions of constraints must be checked by substituting them backinto

3T & ALITAT GATTT T ST ¥ 3o a9g o Far Ser afge

A) Objective function

w\straintequations

C) Not required

D) None of these

8. Of all the points of the feasible region, for maximum or minimum of objective function, the point lies

Tera a1 & @l gl 7 &, e d A1 +geTad 3T ARG & fav, g g &

(a) inside the feasible region

() at the boundary line of the feasible region
(c) vertex point of the boundary of the feasible region
(d) none of these

9.Feasible region is the set of points which satisfy

Tara &1 31 g3l 7 Tag & S Ese ad &
(a) the objective functions
(b) some of the given constraints
all of the given constraints
(d) none of these

10.In linear programming the objective functions and constraints are

@ NanfFr & 3eged Hr ik arenv §



(a) adjacent
(b) quadratic
linear

(d) solved

11. which of the followingis a component of linear programming model?
Ffef@a & ¥ i Qs wanfder Alsa &1 T gea g2
(a) Constraints

(b)objective function

(c) feasible region

(d DII of the above

12.For the products X and Y, which of the following can be a objective function

3carer & o X3 v, e 7 & Fl a1 0 38T B & TehT &

afa) C=x+2y
(b) c =y — 2x?
(c) C=x+2x/y
(d) Allofthese

13.Ina LPP, the linear inequalities or restrictions on the variables are called
TEddT #, TR W 3FHRT AT IT Ifde gl SA1ar g

ALinearconstrains
(b) limits
(c) inequalities
(d) constraints

14. Which one of the following is a part of every game theory model?
Fef@a & @ Fia a1 d7 Beyia Alsa & ve e &2

(a)_Players

JPayoffs

(c) Possibilities
(d) Strategies

15. In game theory, a choice that is optimal for a firm no matter what its competitors do is referred to as

A 2 H, vF [Fhew N vk B & AT sveaA § TR I% U Ufdedgadl & & F Fefd e

Dominant strategies
(b) Saddle point
(c) Super optimal
(d) None



16. Which of the following circumstances in an industry will result in a Nash equilibrium?
T 3¢ A PAefaf@a A @ wla @ aREAE # e e gges gen?

JAII firms have a dominant strategy and each firm chooses its dominant strategy.
(b) All firms have a dominant strategy, but only some choose to follow it.
(c) All firms have a dominant strategy, and none choose it.
(d) None of the above is correct.

17. Which of the following describes a Nash equilibrium?
fRrfaf@d # @ @i v oer dgeret &1 ol e 72

(a) A firm chooses its dominant strategy, if one exists

Every competing firm in an industry chooses a strategy that is optimal given the choices of every other firm.
c) Market price results in neither a surplus nor a shortage.
(d) All firmsin an industry are earning zero economic profits.

18. Which of the following is a nonzero-sum game?
fArfaf@a # & &la e I-Afaa afr &1 @« g2

risoners’ dilemma
(b) Chess
(c) Competition among duopolists when market share is the payoff
(d) All of the above.

19. In game theory, a situation in which one firm can gain only what another firm loses is called a
AA oA A, v v R FEH vh w dhad J@r g # Fhdr § ST g A gRAT &

(a) nonzero-sum game.
(b) prisoners’ dilemma.
Zero-sum game.

(d) cartel temptation.

20. A strategy that is best regardless of what rival players do is called
TS I0EATa SIt gfdeged! R@anfsdl & arer i wag e oar ae9d 3T §
(a) first-mover advantage.
(b) a Nash equilibrium strategy.
(c) _tit-for-tat.
a dominant strategy.

21. A rule of expanding a determinant of order 3 is
3 %A & ORUF & TOR & U& =gqd g---

) Sarrus Rule
(b) Bayes Rule
(c) Pascal Rule
(d) None of these

22. Who propounded the theory of input-output analysis?
mra-fRed ferewer fresr sega famar?

y.W.Leontief



(b) Howkins
(c) D.C.Simon
(d) Lagrange

23.In which year Input output analysis was introduced?
3raTe-fAeta fereivor fhe a¥ gega fmar o

(a) 1915
aff) 1951
(c) 1948
(d) 1932

24. In input output analysis, each industry produce only......... commodity?

IeTa-feta Rereivor 7 TF 3T dhad..... a8 P 3cde FIAT 87

-

(c) 3
(d) 4

25. Who introduces the concept of game theory?
Yol Aeuid #1 FTURYT fhas T $1?

(a) James Bernoulli

(b) Thomas Bayes
Newman & Morgenstern
(d) None of these



GURUNANAK COLLEGE, DHANABAD

DEPARTMENT OF ECONOMICS

MID-TERM EXAMINATION

DSE Il (Group A)

Mathematical methods in economics 11

1.If A =diag(3, -1), then matrix A is

0 3 -1 0
@ 'n —1] @3 9
30 3 -1
© 1y @ 0 o

2. If matrices A and B are inverse of each other then

af A3 B g F g & ARTw
(2) AB = BA
AB=BA=|
C = =
(d)AB=0,BA=|

3. The diagonal elements of a skew symmetric matrix are

oo gafaa ARFw & [T aca &

@.all Zeroes,
(b) are all equal to some scalar k(# 0)

(c) can be any number
(d) none of these

4.

0 0 0 0 0
equal. State true or false.

Zero matrices Iﬂ 0 ﬂ} and P ﬂ} are

(a) True

(b) False

5.

x+3y y 4 -1
If =
[? T 4} [1} 4|, find the values

of x and y.

Time; 45Min

jhulan
bhandari
econom
ics hons
semeste
ré6roll -
16



(a)x=3,y=-1

(b)x=7,y=-1

(c)x=4,y=2

(d)x=3,y=2

6.
3 -1 2

Given matrix 4 = [4 5 9|, write the
1 3 4

value of 3a,, — 4a;,.

(@) 5
(b) 3

-1
(d) 4

7. The intermediate solutions of constraints must be checked by substituting them backinto

3T & ALITAT GATTT T ST ¥ 3o a9g o Far Ser afge

A) Objective function
B) Constraintequations
C) Not required

D) None of these

8. Of all the points of the feasible region, for maximum or minimum of objective function, the point lies

g & & qel fogail A &, 3ifhdd A1 FgATH 3T FARE & forr, fig IGIGRS

(a) inside the feasible region
(b) at the boundary line of the feasible region

(© Wof the feasible region

(d) none of these

9.Feasible region is the set of points which satisfy

Tara &1 31 g3l 7 Tag & S Ese ad &
(a) the objective functions
(b) some of the given constraints

R
(d) none ot these

10.Inlinear programming the objective functions and constraints are

S ST # SedReT F I AT



(a) adjacent
(b) quadratic
(c)linear

(d) solved

11. which of the followingis a component of linear programming model?

Ffaf@d & ¥ w9 Qs W@ alsa 1 v ges 82
(a) Constraints

(b)objective function

(c) feasible region

(d) All of the above

oD

12.For the products X and Y, which of the following can be a objective function
3curel & fow X3 v, A & ¥ Sl IO1 Uh 36T BRI @ TR &

(a) C=x+2y

(b) c =y — 2x?
(c) C=x+2x/y
(d) Allofthese

13.Ina LPP, the linear inequalities or restrictions on the variables are called

Tt &, TR T 3T I GAAAY AT YfAS gl Sar &

(a) Lineai Eonsiiiigs
(b) limits

(c) inequalities
(d) constraints

14. Which one of the following is a part of every game theory model?
Fef@a & @ Fia a1 d7 Beyia Alsa & ve e &2

(a) Players

(b) Payoffs

(c) Possibilities

(d) Strategies

15. In game theory, a choice that is optimal for a firm no matter what its competitors do is referred to as

A 2 H, vF [Fhew N vk B & AT sveaA § TR I% U Ufdedgadl & & F Fefd e

(a) Dominant strategies
() Saddlakgitie
(c) Super optima

(d) None



16. Which of the following circumstances in an industry will result in a Nash equilibrium?

T 3T A PEaf@a & @ Sia @ aREfad # v qer dgore gen?

Wgy and each firm chooses its dominant strategy.
Irms have a dominant strategy, but only some choose to follow it.

(c) All firms have a dominant strategy, and none choose it.

(d) None of the above is correct.

17. Which of the following describes a Nash equilibrium?
fRrfaf@d # @ @i v oer dgeret &1 ol e 72

(a) A firm chooses its dominant strategy, if one exists

(Win an industry chooses a strategy that is optimal given the choices of every other firm.
(c arke esults In neither a surplus nor a shortage.

(d) All firmsin an industry are earning zero economic profits.

18. Which of the following is a nonzero-sum game?

fRefaf@a & @ #ia v A-AfFAa R @1 Qo g2

(ai Pi'éoners’dilemma

(c) Competition among duopolists when market share is the payoff
(d) All of the above. ®

19. In game theory, a situation in which one firm can gain only what another firm loses is called a
AA oA A, v v R FEH vh w dhad J@r g # Fhdr § ST g A gRAT &

(a) ro-su

(b) prisone mma.
(c) zero-sum game.
(d) cartel temptation.

20. A strategy that is best regardless of what rival players do is called
TS I0EATa SIt gfdeged! R@anfsdl & arer i wag e oar ae9d 3T §
(a) first-mover advantage.
(b) a Nash equilibrium strategy.
(c) tit-for-tat.
(d) a dominant strategy.
oS

21. A rule of expanding a determinant of order 3 is
3 %A & ORUF & TOR & U& =gqd g---

(a) rru
(b)B;ye%

(c) Pascal Rule
(d) None of these

22. Who propounded the theory of input-output analysis?
mra-fRed ferewer fresr sega famar?
(a) W.W.Leontief

o ——



(b) Howkins
(c) D.C.Simon
(d) Lagrange

23.In which year Input output analysis was introduced?
ITa-feta [erewor fFw av gega fear amn?
(a) 1915

A; 1951

(d) 1932

24. In input output analysis, each industry produce only......... commodity?
FreTa-foeta Rereor & g% 36@eT Fad..... TEG F 3cUal HIT 87
(a) 1

(c) 3
(d) 4

25. Who introduces the concept of game theory?
Yol Aeuid #1 FTURYT fhas T $1?

(a) James Bernoulli

(b) Thomas Bayes

(c) Newman & Morgenstern
(



GURUNANAK COLLEGE, DHANABAD

DEPARTMENT OF ECONOMICS

MID-TERM EXAMINATION

DSE Il (Group A)

Mathematical methods in economics 11

1.If A =diag(3, -1), then matrix A is

0 3 -1 0]
@ ’n —1] @3 9

30 3 -1
@ly @ ;

2. If matrices A and B are inverse of each other then

afg A 3R B U g F gepA € A ARww

a) AB = BA
%=BA:I

(C)AB =BA=0

(d)AB=0,BA=I

3. The diagonal elements of a skew symmetric matrix are

oo gafaa ARFw & [T aca &

(a) all zeroes
(b) are all equal to some scalar k(# 0)

be any number
none of these

4.

) 0 0 0 0 0
?.'.f:mr11'J|atnt;r.e:~s[[r 0 ﬂ‘and[ﬂ ﬂ}arc

equal. State true or false.
.
(b) False

5.

x+3y vy 4 -]
If =
[-_.r T 4l [1} 4|, find the values

of x and y.

Time; 45Min

Name - Rohan
Kumar

Roll.no.- 315
semester-6



(a)x=3,y=-1

‘=7;y='1

(c)x=4,y=2

(d)x=3,y=2

6.
3 -1 2

Given matrix 4 = (4 5§ 9, write the
1 3 4

value of 3a,, — 4a;,.

(@) 5
(b) 3
(c) -1
(d) 4

7. The intermediate solutions of constraints must be checked by substituting them backinto

3T & ALITAT GATTT T ST ¥ 3o a9g o Far Ser afge

A) Objective function

B) Constraintequations
C) Not required

D) None of these

8. Of all the points of the feasible region, for maximum or minimum of objective function, the point lies

et & & |l Rt F &, fUeras a1 =gaTae 3eced #ARg & fov, g Pfea &
(a) inside the feasible region

the boundary line of the feasible region
vertex point of the boundary of the feasible region

(d) none of these

9.Feasible region is the set of points which satisfy

Tara &1 31 g3l 7 Tag & S Ese ad &
(a) the objective functions
) some of the given constraints
(c) all of the given constraints
(d) none of these

10.In linear programming the objective functions and constraints are

@ NanfFr & 3eged Hr ik arenv §



(a) adjacent
(b) quadratic

(d) solved

11. which of the followingis a component of linear programming model?
Ffef@a & ¥ i Qs wanfder Alsa &1 T gea g2
(a) Constraints

(b)objective function

(c) feasible region

Mhe above

12.For the products X and Y, which of the following can be a objective function
3curel & fow X3 v, A & ¥ Sl IO1 Uh 36T BRI @ TR &

X+2y
(b) c =y — 2x?
(c) C=x+2x/y
(d) Allofthese

13.Ina LPP, the linear inequalities or restrictions on the variables are called
T &, W W ITAE ARG AT Jfde Fel a1 &

(a) Linear constrains
(b) limits

(c) inequalities

(d) constraints

14. Which one of the following is a part of every game theory model?

fAefaf@a & & Fid a1 7 Reuid Alsd & T B 82

(a ers
yoffs
(c) Possibilities
(d) Strategies
15. In game theory, a choice that is optimal for a firm no matter what its competitors do is referred to as

A 2 H, vF [Fhew N vk B & AT sveaA § TR I% U Ufdedgadl & & F Fefd e

Dominant strategies
(b) Saddle point
(c) Super optimal
(d) None



16. Which of the following circumstances in an industry will result in a Nash equilibrium?

T 3¢ A PAefaf@a A @ wla @ aREAE # e e gges gen?

?us have a dominant strategy and each firm chooses its dominant strategy.
All firms have a dominant strategy, but only some choose to follow it.

(c) All firms have a dominant strategy, and none choose it.

(d) None of the above is correct.

17. Which of the following describes a Nash equilibrium?

fRrfaf@d # @ @i v oer dgeret &1 ol e 72

(a irm chooses its dominant strategy, if one exists
ery competing firm in an industry chooses a strategy that is optimal given the choices of every other firm.

Market price results in neither a surplus nor a shortage.
(d) All firmsin an industry are earning zero economic profits.

18. Which of the following is a nonzero-sum game?
fArfaf@a # & &la e I-Afaa afr &1 @« g2

(a) Prisoners’ dilemma

(b) Chess

(c) Competition among duopolists when market share is the payoff
(d) All of the above.

19. In game theory, a situation in which one firm can gain only what another firm loses is called a

AA oA A, v v R FEH vh w dhad J@r g # Fhdr § ST g A gRAT &

ro-sum game.
prisoners’ dilemma.

(c) zero-sum game.
(d) cartel temptation.

20. A strategy that is best regardless of what rival players do is called
TS 0TSt gfdeged! @anfsdl & arer fr wag e oar ae9d 3T §
-mover advantage.
a Nash equilibrium strategy.
(c) tit-for-tat.
(d) a dominant strategy.

21. A rule of expanding a determinant of order 3 is
3 %A & ARUF & TOR & U& =gqd g---

arrus Rule

Bayes Rule

(c) Pascal Rule
(d) None of these

22. Who propounded the theory of input-output analysis?
3TaTd- fareor fohde gega fohar?
.W.Leontief



(b) Howkins
(c) D.C.Simon
(d) Lagrange

23.In which year Input output analysis was introduced?
Jmara-fdta faerawor e av gwga fFar

(a) 1915

51
(c) 1948
(d) 1932

24. In input output analysis, each industry produce only......... commodity?
ﬁmw:ﬁmmm ...... aEg T 3cUcre FAT 82
a) 1l

(b) 2
(c) 3
(d) 4

25. Who introduces the concept of game theory?
Yol Aeuid #1 FTURYT fhas T $1?

(a) James Bernoulli

b as Bayes
wman & Morgenstern
(d) None of these



GURUNANAK COLLEGE, DHANABAD

DEPARTMENT OF ECONOMICS
MID-TERM EXAMINATION
DSE Il (Group A) Time; 45Min

Mathematical methods in economics 11

1.If A=diag(3, -1), then matrix A is

0 3 o
@ ’n -1 ®) :: g]
0 3 -1
-1 @ 0 o

2. If matrices A and B are inverse of each other then

Ifg A TR & gehA ¢ o Afedw
(a A
AB=BA=|
(c)AB=BA=0
(d)AB=0,BA=1I

3. The diagonal elements of a skew symmetric matrix are

IGEG eoFH & faepoT aca g
eroes

(b) are all equal to some scalar k(# 0)

(c) can be any number

(d) none of these

4.

) 0 0 0 0 0
ZCl'GmaII‘IGE:S[ﬁ 0 ﬂlami[{:I ﬂ}arc

equal. State true or false.

(a) True
%
5.
x+3y y| |4 -1
If =
[_’, . 4l [ﬁ 4|, find the values

of x and y.



(a)x=3,y=-1

(b)x=7,y=-1

6.
3 -1 2

Given matrix 4 = [4 5 9|, write the
1 3 4

value of 3a,, — 4a;,.

(@) 5
(b

c) -1
(d) 4

7. The intermediate solutions of constraints must be checked by substituting them backinto

3T & ALITAT GATTT T ST ¥ 3o a9g o Far Ser afge

A) Objective function
B) Constraintequations

C) Not required

Mhese

8. Of all the points of the feasible region, for maximum or minimum of objective function, the point lies

et & & |l Rt F &, fUeras a1 =gaTae 3eced #ARg & fov, g Pfea &
(a) insid feasible region

boundary line of the feasible region

ertex point of the boundary of the feasible region

(d) none of these

9.Feasible region is the set of points which satisfy

Tara &1 31 g3l 7 Tag & S Ese ad &
(@) th Ive functions
e of the given constraints
(c) all of the given constraints
(d) none of these

10.Inlinear programming the objective functions and constraints are

S ST # SedReT F I AT



(a) adjacent
(b) quadratic
(c)li

(d) solved

11. which of the followingis a component of linear programming model?
FfRf@a & ¥ Fia Qs denfde Aea &1 v g §?

(a) Constraints

(b)objective function

(c)feasibler

the above

12.For the products X and Y, which of the following can be a objective function

(c) C=x+2x/y
(d) Allofthese

13.Ina LPP, the linear inequalities or restrictions on the variables are called
T &, W W ITAE ARG AT Jfde Fel a1 &

(@) Linear
(b) lipgé
Inequalities
(d) constraints

14. Which one of the following is a part of every game theory model?

fArfaf@a & & Fid a1 37 Reuid Alsd & T fear 82

ssibilities
(d) Strategies
15. In game theory, a choice that is optimal for a firm no matter what its competitors do is referred to as

w3 & T gsead § O} 9% 39w gldegeiaal & &9 3 deiid &

A7 A A, TH

Inant strategies
Saddle point

(c) Super optimal

(d) None



16. Which of the following circumstances in an industry will result in a Nash equilibrium?
T 3T A PEaf@a & @ Sia @ aREfad # v qer dgore gen?

(a) s have a dominant strategy and each firm chooses its dominant strategy.
firms have a dominant strategy, but only some choose to follow it.

(c) All firms have a dominant strategy, and none choose it.

(d) None of the above is correct.

17. Which of the following describes a Nash equilibrium?

PARf@a & @ i e S = FT Uil T g?

arket price results in neither a surplus nor a shortage.
(d) All firmsin an industry are earning zero economic profits.

18. Which of the following is a nonzero-sum game?

frfaa & @ AhET TR FT Qe 22

Competition among duopolists when market share is the payoff
(d) All of the above.

19. In game theory, a situation in which one firm can gain only what another firm loses is called a

I T B Shad Jer grde BT Ahdl ¢ if a0 B Rl &

prisoners’ dilemma.
(c) zero-sum game.
(d) cartel temptation.

20. A strategy that is
Ts WET S :
(a) fir
(b

gardless of what rival players do is called

& dTel Y g U e ged e §

er advantage.

ash equilibrium strategy.
tit-for-tat.

(d) a dominant strategy.

determinant of order 3 is
F TH FIF g

21. A rule of expa

Bayes Rule
(c) Pascal Rule
(d) None of these

22. Who propounded the theory of input-output analysis?
mra-fRed ferewer fresr sega famar?
(a) W.W.Leontief



(c) D.C.Simon
(d) Lagrange

23.In which year Input output analysis was introduced?

(c) 1948
(d) 1932

24. In input output analysis, each industry produce only......... commodity?
- T # yedE 3T Fae..... aEG HT 3cqare FIT 82

(a) 1

(b) 2

(c) 3

25. Who introduces the concept of game theory?
Yol Aeuid #1 FTURYT fhas T $1?

(a) James B ulli

an & Morgenstern
one of these

shubham kumar
nishad
roll no-473
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1IfA= dia93>-1), then matrix A is

0 3 -1 0
of 3 ol

[ °

-1

(d

2. If matrices A and B are inverse of each other then

afg A 3R B U g F gepA € A ARww
(a) AB =BA

)AB=BA=|
J(c’)AB:BA:o
(d)AB=0,BA =1

3. The diagonal elements of a skew symmetric matrix are

FAfAT A F (AT dca &

a) all zeroes

(b) are all equal to some scalar k(# 0)
(c) can be any number

(d) none of these

4.

Zero matrices Iﬂ 0 ﬂ] and [D ﬂ} are

0 0 0 0 0
E}l. State true or false.
(a) True
(b) False

5.

x+3y y 4 -1
If =
[? T 4} [1} 4|, find the values

of x and y.



(a)x=3,y=-1

M=7Iy=-1
(c)x=4,y=2
(d)x=3,y=2
6.
3 -1 2
Given matrix 4 = (4 5§ 9, write the
1 3 4

value of 3a,, — 4a;,.

(@) 5
(b) 3

-1
(d) 4

7. The intermediate solutions of constraints must be checked by substituting them backinto

3T & ALITAT GATTT T ST ¥ 3o a9g o Far Ser afge

A) Objective function

Monstraintequations

C) Not required

D) None of these

8. Of all the points of the feasible region, for maximum or minimum of objective function, the point lies

Tera a1 & @l gl 7 &, e d A1 +geTad 3T ARG & fav, g g &
(a) inside the feasible region
‘(g}at the boundary line of the feasible region
vertex point of the boundary of the feasible region
(d) none of these

9.Feasible region is the set of points which satisfy

Tara &1 31 g3l 7 Tag & S Ese ad &
(a) the objective functions

(b) some of the given constraints

(@ all of the given constraints

(d) none of these

10.In linear programming the objective functions and constraints are

@ NanfFr & 3eged Hr ik arenv §



(a) adjacent
(b) quadratic

4Iinear

(d) solved

11. which of the followingis a component of linear programming model?
Ffef@a & ¥ i Qs wanfder Alsa &1 T gea g2
(a) Constraints

(b)objective function

(c) feasible region

LATAll of the above

12.For the products X and Y, which of the following can be a objective function
3curel & fow X3 v, A & ¥ Sl IO1 Uh 36T BRI @ TR &

(a) C=x+2y
(b) c =y — 2x?
(c) C=x+2x/y

-)\‘) All of these

13.Ina LPP, the linear inequalities or restrictions on the variables are called
TEddT H, TR T 3FHT AT IT Ifdes gl SA1ar g

Linear constrains
(b) limits
(c) inequalities
(d) constraints

14. Which one of the following is a part of every game theory model?
Fef@a & @ Fia a1 d7 Beyia Alsa & ve e &2

(a) Players
(b) Payoffs
(c) Possibilities

y Strategies

15. In game theory, a choice that is optimal for a firm no matter what its competitors do is referred to as

A 2 H, vF [Fhew N vk B & AT sveaA § TR I% U Ufdedgadl & & F Fefd e

(a) Dominant strategies
(ﬂ Saddle point

(c) Super optimal

(d) None



16. Which of the following circumstances in an industry will result in a Nash equilibrium?
T 3¢ A PAefaf@a A @ wla @ aREAE # e e gges gen?

“4” firms have a dominant strategy and each firm chooses its dominant strategy.
(b) All firms have a dominant strategy, but only some choose to follow it.
(c) All firms have a dominant strategy, and none choose it.
(d) None of the above is correct.

17. Which of the following describes a Nash equilibrium?
fRrfaf@d # @ @i v oer dgeret &1 ol e 72

(a), A firm chooses its dominant strategy, if one exists

Every competing firm in an industry chooses a strategy that is optimal given the choices of every other firm.
(c) Market price results in neither a surplus nor a shortage.
(d) All firmsin an industry are earning zero economic profits.

18. Which of the following is a nonzero-sum game?

fRefaf@a & @ #ia v A-AfFAa R @1 Qo g2

'{43risoners’dilemma

(b) Chess
(c) Competition among duopolists when market share is the payoff
(d) All of the above.

19. In game theory, a situation in which one firm can gain only what another firm loses is called a

AA oA A, v v R FEH vh w dhad J@r g # Fhdr § ST g A gRAT &

A’\onzero—sum game.

(b) prisoners’ dilemma.
(c) zero-sum game.
(d) cartel temptation.

20. A strategy that is best regardless of what rival players do is called
TS I0EATa SIt gfdeged! R@anfsdl & arer i wag e oar ae9d 3T §
(a) first-mover advantage.
(b) a Nash equilibrium strategy.
(c) tit-for-tat.
a dominant strategy.

21. A rule of expanding a determinant of order 3 is

3 a::?m & JOR & T @97 g---
Sarrus Rule

(b) Bayes Rule
(c) Pascal Rule
(d) None of these

22. Who propounded the theory of input-output analysis?
3TaTd- fareor fohde gega fohar?
W.W.Leontief



(b) Howkins
(c) D.C.Simon
(d) Lagrange

23.In which year Input output analysis was introduced?
3raTe-fAeta fereivor fhe a¥ gega fmar o

(a) 1915

(b)”1951

C) 1948

(d) 1932

24. In input output analysis, each industry produce only......... commodity?
- T # yedE 3T Fae..... aEG HT 3cqare FIT 82

(a) 1

7 2

(c) 3

(d) 4

25. Who introduces the concept of game theory?
Yol Aeuid #1 FTURYT fhas T $1?

(a) James Bernoulli

(b) Thomas Bayes

Newman & Morgenstern
(d) None of these
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e Q@Oh@(l(‘)]?SCT ANSWER OF THE FOLLOWING:

1) The backbone of Indian economy is
AR Fegaear i g §

1) Industry

Agriculture

EaL]

c

3) Export
ot

4) Services
Jqare

2) Regulating body of rural Finance in India

AR A faa &1 fAfaads e
\}Z”
ARSI
2) NABARD
TS
3) RRB
& AT d%
4) Cooperative bank

TEHER I

3) Father of green revolution in India:



HRA HegRd HIfd & oI ¢
1) William gadd
foasd s

2) Norman E. Borlaug
AAT §. AT

.S Swaminathan

TH.TH TATHIATdT

4) Which one of the following is not an element of sustainable agriculture?
AT & @ Sl FuRoia F &1 dca 7@ 2
1) Environmental protection
TR T &
2) Economic profitability

snfderermerdedr
3) Social and economic equality
3R 3nfde FAETETar
4) Meligious equality
enfie @Fdar

5)Green Revolution was started at

) 1966-67
3) 1968-69
4) 1970-71

6) Which crop got the most benefit of Green Revolution?
gRa wifa &1 aaifes o fora wae & e

1) AVheat



2) Zie
Iidel

3) Tea
aT

4) Oilseeds

IGEED]

7)Full form of APP
APP T PoT Hie

1) Agricultural price policy
FY 7o Afa

2) agriculture price program
FV 7o FTH

3) audio price policy
HifsA Ao Afa

4) all of them
3o g

8) What are the measures to solve the problem of food security?

I GRETThHATITRIG oTeh{athi VAT UG ?

1) save food movement
Ged igielel I TaTHT
2) develgping rural industries
3t T faehrE e
increase production
3cuieed # gefTr &l
4) all of these
T g

9) What does food security means?

Qg GR&Tehl T Hclold g7



1) availability of food
STl Y ITcTsHdm
2) accessibility of food
st 1 age
3) availability and accessibility of food to all at all times
HSTeT T ITersar AR TgT
ailability, accessibility, affordability of food to all at the times.
& THY HIST HT ITeUd, Tgd, ALY

10) Consider the following statement and identify the right
fArafaf@a o W TR & 3R F@@r T ggarT H
1.The APP aims at providing assured price to the farmers.

T T 36eRT fhdmEil 1 AT Hed Ferel A gl

ii) It aims at inducing farmers to bring in their surplus produced to the market.

SHH 3603T ThamEl Al IR & 3caiigd 3o AT & ot & fow aRda & gl

1) | only
hael |
2) Il only

4) None of these
I

11) When was the World Trade Organization established?

1 SeAaT, 1995
2) 10 October 1995
10 g 1995



3) December 12, 1995

12 feasr, 1995
4) 6 May 1995
6 #AS1995

12) What has the World Trade Organization managed in the field of agriculture?

ICECRZICIES o Fo0T & T H o1 yeueT fohar g2

antitative restrictions on imports have been removed.

AT WX & AFCHS Sfaauger amg|

2) The policy of liberalization in agriculture is adopted
Y 7 IaioT T Afas o= §
3) Subsidies have been removed from the agricultural sector
FeT ¥ afewsr #r g
4) All appropriate.
SUgFAHST|
13) Agricultural marketing refers to the produce produced by farmers

S fAYU @ AT YR GaART cqTied 3Tl

1) order of objects.
TEGHT F FA F
2) sale of goods.

FEA3Pe, fahT T £
oth 1 AND 2

2l 1 AND 2 &1
4) NONE OF THEM

[ETIREICR!
14) Which of the following tasks is not included under agricultural marketing?

Y fauoe & i Aefaf@d & @ @i - FeRaFEAfad 7@ g

1) Aggregation of agricultural produce.

agﬁr 3YSThIUeh TehI0T |



Ivision of agricultural commodities.
HN qEI3T 1 fFeTsieT |
3) The study of agricultural commodities.
S a3 T g
4) neither of the above.
IRFT F T A AGT|
15) The first Government Marketing Committee was established in India?

Wﬁqmwﬂﬁtmmﬁﬁr@rwgézﬁ?

1) In 1913

1913 &
2) In 1947

1947 #
3) In 1951
19513
In 1931

4)

16)Agriculture is not a part of marketing.
HY fagurersaier @7 g

1) Integrating agricultural produce.

Y 3UST & TleheTT |
2) Certification of agricultural produce.
HY U7 1 gATONHROT|
3) of good quality food by the farmers.
TS [hEHeS WiedTeall & HVh! GarT 39|
4) To bring agricultural produce to the market.

P 39T F AVSIASH T
17)Which one of the following crops is not cultivated under dry land farming ?

fAefaf@d & & fhe Bae & Well Yo A T Wl & Tecl 181 I STl 872



1)
e

2) Groundnut
T

3) Jowar
AR

4) Sugarcane

ElCG|l

18) Public Distribution system is associated with

RICEIEED JOTTel & TIA SST g3 §

1 Ir price shops

3T Hed & g
2) Co-Cooperative stores

HE-HghNI HESR
3) super bazar

ST
4) None of the above

|

19) Which of the following can be used to overcome unemployment?
ISR ¥ el o fov fe=faf@d & & @l & suzerihdsT dod §7?

1) Special Employment Program.

Y TSR i |
2) Population control.
I FEIAIFoT|
DeveJopment of Small and Rural Industries.
Td AT ATt [aehrd |
Il of the above.

3WITFd T




20) Disguised unemployed in the agricultural sector of India exists due to the

HR T N TAT BT s T hehRUTHISIEE

\/(pendence of agriculture on monsoons
AT W HN AT AR

2) abolition of zamindari

SFHERIBe T

a

3) heavy pressure of population on land
A W TAHEIT T ARG

4) all of them
3o T

21)Which type of unemployment is found India?
RT & g gpR I RIS g5 ST 872

1) structural unemployment
HIATHS SIS

2) seasonal unemployme
AT STy

3) Disguise unemployment.
$CehTd SRISTITRT |

4) All of the above
IqFIEH

22)What type of unemployment is found in agriculture sector of India?
HRA & Ay 7 fFg gpR & RSP 918 ST 87

Disguised unemployment.
JTBesl SRISTITRT|

2) Voluntary unemployment
wfeos aUSI

3) frictional unemployment

gfaRIemcHs SIS



4) None of the above

IRFT F J FS G
23)ldentify the agricultural subsidy in India
RS & Y FgIiAhr T qgare &

1) fertilizer subsidy

3T TETahr
2) seed subsidy

CIS R EIRE)

3) Credit subsidy

A gEIiadr
4) All of thkm

5) SIH

24)Full form of HYV

2) height yielding variety
a8 3997 fohes

3) High yielding various.
3o YR faffesT|

4) Half yielding variety
e 3957 e

25) Inwhich year Public Distribution system started in India?

AR # fhe 9§ ardeifars faaRor yomelr Y e T g5?



1) 1 July,1979
1 E_lj?»lﬁ 1979
2) 1 July,1979
1 3elts, 1978
3) 1 June ,1979
1 51,1979
4) No these



